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- pO 4237+ 0.0
pl -36.64 + 0.00

TP delay [ns]

4000
3000

2000

1000

4000

2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (0,7,2)

- C = 26.25 [ps/c

AT 1nun zsze+04 [ 25
po 4234+ 0.0
pl -38.1+ 0.0

TP delay [ns]

TVC(cbch) (0,7,6

T i, 744e+04 | 25
- pO 4224+ 0.0
- pl -35.43 + 0.00

3000

TP delay [ns]

TVC(cbch) (0, 7 10

1000

T rnuigyr4e+ud [ 25
= po 4257+ 0.0
- pl -36.25+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,7,14

T bzse+u4 [ 25
- pD 4238+ 0.0
L pl -35.88+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,7,3

AT rnuaiLsrze+u4 [ 25
- po 4231+ 0.0
pl -37.15+ 0.00

TP delay [ns]

TVC(c,b ch) (0 7,7

Sornan 1.8e+u4 /25
- pO 4219+ 0.0
p1 -34.83+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 7

ERALEVX bme+u4/25
= po 4259+ 0.0
pl -37.12+ 0.00

TP delay [ns]

TVC(C, bch) (07,15

-1 naisuze+ud [ 25
= pO 4250+ 0.0
p1 -36.26 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (0,8,0)

A~ ziie+ud [ 25
- po 4215+ 0.0
p1 -36.26 + 0.00

TP delay [ns]

TVC(cbch) (08,4

T rnuiLz4/e+04 / 25
pO 4218+ 0.0
p1 -35.00+ 0.00

0

TP delay [ns]
TVC(cbch) (O 8,8) —
T nuz s3be+u4 5
= pO 4238:‘
pl -36.55+ 0.00
TP delay [ns]
TVC(c,b ch) (0o, 8 12

- 1 i 53ye+u4 [ 25
po 4255+ 0.0
p1 -37.21+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,81

A i 2zaevud | 25
Fee.. po 4199 0.0
pL -35.08+ 0.00

TP delay [ns]

TVC(c,b ch) (0 8,5

Cnun1z/e+04 /25
4211+ 0.0
-34.5 % 0.0

TP delay [ns]

TVC(c,b ch) (0 8,9

~ 1 naiazae+04 [ 25
= pO 4253+ 0.0
p1 -36.02 £ 0.00

TP delay [ns]

TVC(c,b Ch) (0, 8 13

T nuib3se+ud [ 25
= pO 4265+ 0.0
pl -37.18 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

0

4000

3000

2000

TVC(cbch) (0,8,2)

X1, L1ge+ud | 25
. po 4212+ 0.0
L pl -35.84 + 0.00

3000

TP delay [ns]

TVC(cbch) (0,86

©1nuiL419e+04 / 25
- pO 4234+ 0.0
L pl -35.79 + 0.00

TP delay [ns]

TVC(eb,oh)=(0, 8, 10

- i 1 25e+04 1 25
= pO 4281+ 0.0
[ pL -37.13+ 0.00

TP delay [ns]

TVC(Cbch) (o, 8 14

1000

- 15se+ud /25
o, pD 4263+ 0.0
L pl -37.58 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,8,3

A1 nuiLzo1e+ud [ 25
- po 4231% 0.0
pL -36.26+ 0.00

TP delay [ns]

TVC(c,b ch) (0 8,7

1 nuiLbroe+ud / 25
= po 4239+ 0.0
p1 -35.65+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 8

T, 1me+u4125
= pO 4274+ 0.0
pl -36.87 + 0.00

TP delay [ns]

TVC(c,b ch) (0, 8 15

T 1nuiasae+ud [ 25
- pO 4256+ 0.0
p1 -36.59 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,0

K™ 1nui zore+u4 /25
., po 4182+ 0.0
pl -35.69+ 0.00

TP delay [ns]

TVC(cbch) (0,9,4

- i 3uze+u4 / 25
pO 4181% 0.0
p1 -35.54 + 0.00

TP delay [ns]

TVC(cbch) (O 9,8

T Lyze+ud /25
po 4216+ 0.0
pl -35.52+ 0.00

TP delay [ns]

TVC(cbch) (0,9,12

L puze+u4 / 25
pO 4220+ 0.0
pl -35.42+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,1

AT 1L zzse+ud [ 25
., po 4179+ 0.0
pl -35.04 + 0.00

TP delay [ns]

TVC(c,b ch) (0 9,5

-1 nui419e+04 / 25
pO 4199+ 0.0
p1 -35.42:+ 0.00

TP delay [ns]

TVC(c,b ch) (0 9,9

T nup. b /e+ud [ 25
po 4211+ 0.0
pl -35.36 + 0.00

TP delay [ns]

TVC(C, bch) (0,9,13

T inai szoe+ud [ 25
pO 4197+ 0.0
pl -34.55+ 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (0,9,2)

AT 1nun s43e+04 /25
- po 4199+ 0.0
[ p1 -36.35+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,9,6

- 1nuiL4zoe+04 [ 25
4199+ 0.0
-35.8+ 0.0

TP delay [ns]

TVC(cbch) (0, 9 10

1000

T nuz313e+u4 / 25
= po 4248+ 0.0
L pl -36.03+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,9,14

- C = 29.20 [ps/ch]

T 13ye+ud /25
- pD 4208+ 0.0
L pl -34.24.+ 0.00

3000
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50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,3)

AT rmuL4ire+ud [ 25
po 4200+ 0.0
p1 -35.6+ 0.0

TP delay [ns]

TVC(c,b ch) (0 9,7

S nui /ge+u4 [ 25
pO 4215+ 0.0
pL -36.76+ 0.00

TVC(c,b ch) (0, 9

50 1(;0
TP delay [ns]

T aube+u4/25
po 4246+ 0.0
pl -36.75+ 0.00

TP delay [ns]

TVC(C, bch) (0,9,15

T inuisr0e+ud [ 25
4224+ 0.0
-35.01+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (o, 10 0)

[ C =29.20 [ps/ch]

T e+l /25
- pO 4208+ 0.0
-34.25+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (0,104

- 1 i buYe+ud / 25
e, pO 4225+ 0.0
pl -36.66 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (0, 10 8

T rnuzz1se+u4 | 25
- pO 4214+ 0.0
pl -35.36+ 0.00

TP delay [ns]

TVC(cbch) (0,10,12

T i, ruse+u4d / 25
= po 4260+ 0.0
pl -36.75+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (0,10,1)

A1 1zae+04 [ 25
= po 4205+ 0.0
pl -34.4 + 0.0

TP delay [ns]

TVC(c, bch) (0,10,5

-1 nui r9pe+u4 [ 25
- pO 4232+ 0.0
pL -37.39+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 10

1 nug uYe+ud / 25
= po 4232+ 0.0
pl -36.63 + 0.00

TP delay [ns]

TVC(cbch) (010,13

T 1 nuiLp4ye+ud 25
- pO 4253+ 0.0
p1 -36.14 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(CbCh) (0,10,2)

A7 1 nui suoe+u4 / 25
. po 4213+ 0.0
L pl -34.76 + 0.00

3000

TP delay [ns]

TVC(cbch) (0.10,6

1000

S rnuan il /ye+ud [ 25
- pO 4235+ 0.0
[ pl -36.82+ 0.00

TP delay [ns]

TVC(cbch) (0, 10 10

1000

0

©1nuizyyze+ud | 25
=, po 4253+ 0.0
L pl -36.74 + 0.00

TP delay [ns]

TVC(cbch) (0.10, 14

1000

T/ r4e+04 [ 25
- pD 4262+ 0.0
L pl -37.01+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,10,3)

AT rnuiizre+ud [ 25
o po 4228+ 0.0
p1 -34.93+ 0.00

TP delay [ns]

TVC(c, bch) (0,10, 7

- 1nu 105e+u4 / 25
- pO 4257+ 0.0
-37.3+ 0.0

50 1(;0
TP delay [ns]

TVC(cbch) (o, 10 1

" nuig1Ye+u4 / 25
= pO 4249+ 0.0
pl -35.23+ 0.00

TP delay [ns]

TVC(cbch) (0,10,15

T nuip1be+ud [ 25
- pO 4256+ 0.0
p1 -37.26 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (0,11,0)

A1 L zoe+ud /25
P po 4157+ 0.0
p1 -34.72+ 0.00

TP delay [ns]

TVC(cbch) (0,11,4

=i 10be+u4 / 25
e pO 4164+ 0.0
p1 -34.15+ 0.00

TP delay [ns]

TVC(cbch) (0, 11 8

T nuizuzze+u4 | 25
= po 4186+ 0.0
p1 -34.78 + 0.00

TP delay [ns]

TVC(cbch) (0,11, 12

K71 nui suoe+u4 / 25
- po 4212+ 0.0
pl -35.77 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,11,1)

AT 1nuiLgo/e+u4 [ 25
- po 4160+ 0.0
pl -35.29+ 0.00

TP delay [ns]

TVC(cbch) (0,11,5

-1 nui181e+u4 / 25
e, pO 4190+ 0.0
p1 -34.93+ 0.00

TP delay [ns]

TVC(eh.eh)=(0, 11, 9

T nu goze+u4 [ 25
= po 4209+ 0.0
p1 -34.78 + 0.00

TP delay [ns]

TVC(cbch) (0,11,13

T nuiquie+ud / 25
== pO 4205+ 0.0
pl -35.58 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (o, 11 2)

1 nui 1y0e+ud / 25

__— pO 4174+ 0.0
- pl -35.18+ 0.00

TP delay [ns]

TVC(cbch) (0,11,6

-1 nuiL184e+04 [ 25
- pO 4211% 0.0
[ pl -36.04+ 0.00

TP delay [ns]

TVC(cbch) (0,11, 10

— X~ 1 nuizuzse+u4 | 25
= po 4197+ 0.0
L p1 -34.37 % 0.00

TP delay [ns]

TVC(cbch) (0,11, 14

X~ 11 455e+04 [ 25
= po 4217+ 0.0
L p1 -36.15+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,11,3)

AT rnuiLssre+ud [ 25
peee po 4184+ 0.0
pl -35.11 + 0.00

TP delay [ns]

TVC(cbch) (0,11,7

S nuLz/e+u4 /25
- pO 4196+ 0.0
p1 -34.28+ 0.00

TP delay [ns]

TVC(e.beh=(0, 11, 11

- "”Ulib//e+l]4/25
= po 4213+ 0.0
pl -35.32+ 0.00

TP delay [ns]

TVC(cbch) (0,11,15)

fuan 1se+ud ] 25
- pO 4211 0.0
-34.91+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (o, 12 0)

T b/e+u4 /25
.. pO 4208+ 0.0
pl -35.48+ 0.00

TP delay [ns]

TVC(cbch) (0,124

- rnui184e+04 / 25
pO 42174 0.0
pl -37.88:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (0, 12 8

T 1yse+ud /25
- pO 4204+ 0.0
pl -36.79+ 0.00

TP delay [ns]

TVC(cbch) (0,12,12

T rnuiLgsze+u4 [ 25
= po 4219+ 0.0
pl -35.72+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (0, 12 1)

- o zhse+ud | 25
= pO 4216+ 0.0
pl -37.77:+ 0.00

TP delay [ns]

TVC(cbch) (0,125

~ 1 nui zZ/ve+04 [ 25
e pO 4208+ 0.0
pL -37.32:+ 0.00

TP delay [ns]

TVC(Ebeh)=(0, 12,9

T nu g3be+u4 25
- pO 4224+ 0.0
pl -36.76 + 0.00

TP delay [ns]

TVC(cbch) (012,13

Tinun 1 oge+ud [ 25
- pO 4221+ 0.0
pl -36.23+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

0

4000

3000
2000

1000

TVC(CbCh) (0,12,2)

AT inuizse+V4 /25
_- po 4213+ 0.0
o pl -36.52+ 0.00

3000

TP delay [ns]

TVC(cbch) (0.12,6

- i b38e+u4 [ 25
e pO 4213+ 0.0
[ pl -37.03+ 0.00

TP delay [ns]

TVC(cbch) (0, 12 10

T rnuizpure+ud [ 25
. po 4237+ 0.0
L -36.5+ 0.0

TP delay [ns]

TVC(cbch) (0.12,14

~1nuiLquse+u4 / 25
- pD 4228+ 0.0
[ p1 -35.85+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,12,3)

AT 1 nuiLsoze+ud [ 25
- po 4237+ 0.0
pl -37.01+ 0.00

TP delay [ns]

TVC(c, bch) (0,12,7

- nu /13e+04 / 25
- pO 4240+ 0.0
pL -37.31% 0.00

50 100
TP delay [ns]

TVC(eh.eh)=(0, 12, 11

~ 1 nuiz.uzze+u4 [ 25
e pO 4249+ 0.0
p1 -36.74+ 0.00

TP delay [ns]

TVC(cbch) (0,12,15

T nuignae+ud [ 25
- po 4228+ 0.0
p1 -36.34+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (o, 13 0)

T rnuLsLse+u4 [ 25
4215+ 0.0
pl -36.06 + 0.00

TP delay

TVC(cbch) (0,134

[ns]

- 1L y8be+ud / 25
4234+ 0.0
-37.11+ 0.00

= po
pl
- C -1
o =
TP delay [ns]
TVC(c,b, ch) (0, 13 8) —
-1 nuz syve+ud 5
e pO 4262:‘
-34.56 + 0.00
[ C=28.93[ps/ich] ™, 1

0

4000

3000

2000

1000

50

1
100

TP delay [ns]

TVC(cbch) (0,13,12

[ C =28.93 [ps/ch]

Tz oe+u4 | 25
pO 4250+ 0.0
pl -34.57 + 0.00

50

1
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (0,13,1)

e po

AT 1 nuiLs/e+u4 | 25
4213+ 0.0
-37+ 0.0

p1

TP delay

TVC(c, bch) (0,135

F- pO

[ns]

- i blze+u4 /25
4238+ 0.0
pl -37.17 + 0.00

TP delay

TVC(c,b ch) (0, 13

e, po

pl

[ns]

T nup.p41e+04 / 25
4284+ 0.0
-34.57 + 0.00

[ C =28.92 [ps/ch]

50

1
100

TP delay [ns]

TVC(cbch) (013,13

T nug ssze+ud [ 25
4251+ 0.0
-35.91+ 0.00

il
100

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000
2000

1000

TVC(CbCh) (0,13,2)

- po

A7 1 nui s40e+04 / 25
4219+ 0.0
p1 -35.64 + 0.00

TP delay

TVC(cbch) (0.13,6

[ns]

- rnuzu/ge+ud [ 25
4259+ 0.0
pl -37.33+ 0.00

- "
F C = 26.79 [ps/ch .
5(') 100 ’
TP delay [ns]

TVC(cbch) (0, 13 10

pO
pl

©1nuig.gz4e+04 | 25
4303+ 0.0
-34.85+ 0.00

- C = 28.70 [ps/ch]

50

1
100

TP delay [ns]

TVC(cbch) (0,13, 14

Tz bsse+ud [ 25
DD 4249+ 0.0
pl -35.19+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,13,3)

e po

AT 1z 1ose+ud [ 25
4238+ 0.0
pl -37.32+ 0.00

TP delay

TVC(c, bch) (0,13,7

o= pO

[ns]

-1 nu 3loe+u4d / 25
4250+ 0.0
pl -36.67 + 0.00

50 1(;0
TP delay

TVC(cbch) (o, 13 1

- pO

[ns]

1 nuis pbze+u4 / 25
4302+ 0.0
pl -35.85+ 0.00

TP delay [ns]

TVC(cbch) (0,13,15

T inuizoy/e+ud [ 25
pO 4268+ 0.0
p1 -36.7+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (o, 14 0)

T rnuiLzyse+ud [ 25
P pO 4181+ 0.0
pl -36.58 + 0.00

TP delay [ns]

TVC(cbch) (0,144

- i z11e+u4 / 25
e, pO 4202+ 0.0
p1 -34.78:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (0, 14 8

1 nuz.yoge+u4 | 25
= po 4202+ 0.0
pl -35.51+ 0.00

TP delay [ns]

TVC(cbch) (0,14,12

T gole+u4 / 25
= po 4223+ 0.0
-36.11 + 0.00
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50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (0,14,1)

AT rnunLsrse+ud [ 25
P, po 4194+ 0.0
pl -35.91+ 0.00

TP delay [ns]

TVC(c, bch) (0,14,5

~ 1 nui 24 /e+04 [ 25
e, pO 4206+ 0.0
pL -35.03+ 0.00

TP delay [ns]

TVC(ebeh)=(0, 14,9

T inun.zr3e+u4 /25
= po 4219+ 0.0
pl -36.19 + 0.00

TP delay [ns]

TVC(cbch) (0.14,13

T nuiL vove+ud 25
- pO 4225+ 0.0
p1 -36.5+ 0.0

TP delay [ns]

4000

2000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (0,14,2)

1000

A- 1w L 4ne+ud /25
- po 4200+ 0.0
[ p1 36+ 0.0

3000

TP delay [ns]

TVC(cbch) (0.14,6

=1 nurg z8be+u4 [ 25
== pO 4205+ 0.0
[ pl -34.16 + 0.00

- C = 29.28 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (0, 14 10

©1nuizye3e+ud | 25
- po 4231+ 0.0
- pl -36.12+ 0.00

TP delay [ns]

TVC(cbch) (0.14,14

T bz1e+04 /25
[F-e. pD 4239+ 0.0
[ p1 -37.28+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,14,3)

A 1L siierud ] 25
pe=. po 4198+ 0.0
p1 -35.34+ 0.00

TP delay [ns]

TVC(c, bch) (0,14,7

- nui 3b/e+u4 / 25
- pO 4206+ 0.0
p1 -34.71% 0.00

TP delay [ns]

TVC(eh.ch)=(0, 14, 11

T inuiL4r8e+u4 /25
= pO 4231+ 0.0
p1 -36.21+ 0.00

TP delay [ns]

TVC(cbch) (0,14,15

T nui ozve+ud [ 25
- pO 4244+ 0.0
p1 -37.47 + 0.00

TP delay [ns]
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1000

4000
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2000

1000

TVC(CbCh) (o, 15 0)

[ C =29.63 [ps/ch]

T 1ooe+U4 / 25
.. pO 4194+ 0.0
-33.75+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (0,154

T rnuiLzrye+u4 | 25
- pO 4209+ 0.0
pl -36.15+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (0, 15 8

T rnuzzole+u4 | 25
= po 4218+ 0.0
p1 -35.42 + 0.00

TP delay [ns]

TVC(cbch) (0,15, 12

T L bsse+u4 / 25
= po 4229+ 0.0
-35.01+ 0.00

PR B SRS |
50 100

TP delay [ns]

TVC(chh) (0,15,1)

AT rnuanLizse+ud [ 25
4000 [ po 4192+ 0.0
pl -33.2+ 0.0

3000 |- =
2000 = N
w00 C = 30.12 [ps/ch] -]

TP delay [ns]

TVC(cbch) (0,155

4000 S

3000

2000

1000

-1 nun 3z29e+u4 [ 25
pO 4211+ 0.0
p1 -36.43+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 15

3000

2000

1000

-1 nu.ygse+ud / 25
4000 em, pO 4256+ 0.0
pl -35.52 + 0.00

TP delay [ns]

TVC(cbch) (0.15,13

4000 [

3000 -

2000

1000 |~

T naiquie+ud / 25
pO 4219+ 0.0
-34.85+ 0.00

TP delay [ns]
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1000

4000
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1000

4000

3000
2000

1000

TVC(CbCh) (0,15,2)

TP delay [ns]

TVC(cbch) (0.15,6

-1 1uiL480e+04 / 25
- pO 4217+ 0.0
[ pl -36.56 + 0.00

A7 1 nui syze+04 /25
_- po 4215+ 0.0
[ p1 -35.44 + 0.00

3000

TP delay [ns]

TVC(cbch) (0, 15 10

T nuzgo/e+u4 [ 25
-, po 4275+ 0.0
- pl -36.21+ 0.00

TP delay [ns]

TVC(cbch) (0.15, 14

TrnuiLzyre+u4 [ 25
- pD 4217+ 0.0
L pl -34.54 + 0.00

TP delay [ns]
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1000

4000
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2000

1000

TVC(Cbch) (0,15,3)

A1 1Zzae+04 [ 25
po 4210+ 0.0
pL -35+ 0.0

TP delay [ns]

TVC(c, bch) (0,157

- nui ope+u4 / 25
- pO 4232+ 0.0
pL -36.72:+ 0.00

50 1(;0
TP delay [ns]

TVC(cbch) (o, 15 1

[ C =28.94 [ps/ch]

T inui rbze+u4 [ 25
po 4252+ 0.0
p1 -34.56 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (015,15

T nan szze+u4 [ 25
- po 4226+ 0.0
p1 -35.07 + 0.00

TP delay [ns]
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1000
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1000

TVC(cbch) (1,0,0

AT 1nunasze+04 /25
P, po 4181+ 0.0
pl -36.35+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (10,4

-1 301e+04 / 25
™, pO 4163+ 0.0
pl -36.09 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (1 0,8

i psze+u4 | 25
= po 4187+ 0.0
p1 -34.48 + 0.00

TP delay [ns]

TVC(cbch) (1,0,12

~ 1L bzoe+u4 / 25
= po 4200+ 0.0
pl -35.09 + 0.00

TP delay [ns]
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TVC(cbch) (1,01

AT 1 nuLssve+ud [ 25
' po 4184+ 0.0
pl -36.95+ 0.00

TP delay [ns]

TVC(c,b ch) (1, O

S nuiL 3/ e+u4 [ 25
pO 4172+ 0.0
pL -35.56+ 0.00

TP delay [ns]

TVC(c,b ch) (1 0,9

T nug.30e+ud [ 25
po 4208+ 0.0
p1 -34,68 £ 0.00

TP delay [ns]

TVC(C, bch) (1,0,13

T inuiLorye+ud [ 25
pO 4199+ 0.0
pl -36.08 + 0.00

TP delay [ns]
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1000

TVC(cbch) (1,0,2)

A7 1 nui sobae+u4 / 25
P po 4178+ 0.0
- pl -35.67 + 0.00

3000

TP delay [ns]

TVC(cbch) (10,6

©1nuiL44pe+04 | 25
-, pO 4183+ 0.0
u pl -35.56 + 0.00

3000

TP delay [ns]

TVC(cbch) (1, 0 10

T 1z (e+04 /25
= po 4226+ 0.0
- pl -34.89 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,0,14

© L gsze+U4 [ 25
4213+ 0.0
-37.4+ 0.0

TP delay [ns]
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1000

4000
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1000

TVC(cbch) (1,0,3

AT rnuiLgzre+ud [ 25
- po 4201+ 0.0
p1 -36.48 + 0.00

TP delay [ns]

TVC(c,b ch) (1 0,7

- nu /zoe+u4 [ 25
e, pO 4193 0.0
p1 -36.42:+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, O

T bme+u4/25
e pO 4234+ 0.0
pl -35.59 + 0.00

TP delay [ns]

TVC(C, bch) (1,0,15

T nui suye+ud / 25
= pO 4206+ 0.0
p1 -36.57 + 0.00

TP delay [ns]
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1000
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1000

TVC(cbch) (1,1,0

K71 nui suse+ud [ 25
P po 4174+ 0.0
pl -36.24 + 0.00

TP delay [ns]

TVC(cbch) (11,4

- i 3476404/ 25
= pO 4174+ 0.0
p1 -35.74 + 0.00

TP delay [ns]

TVC(eboh)=(1, 1,8

1 nuiLpoye+u4 / 25
- pO 4194+ 0.0
pl -34.71+ 0.00

TP delay [ns]

TVC(cbch) (1,1,12

T4z ie+u4 /25
- po 4210+ 0.0
pl -36.44 + 0.00

TP delay [ns]
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1000
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TVC(cbch) (1,1,1

AT 1 nun1yse+ud [ 25
., po 4195+ 0.0
pl -35.7+ 0.0

TP delay [ns]

TVC(c,b ch) (1, 1

~1nui b4 re+04 [ 25
pO 4192+ 0.0
pL -36.19+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 1

[ C =29.07 [ps/ch] ]

T nug.go/e+ud / 25
4218+ 0.0
-34.39 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (1,1,13

T inuia3ye+ud [ 25
pO 4202+ 0.0
pl -36.85+ 0.00

TP delay [ns]
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1000
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1000

TVC(cbch) (1,1,2)

K71 nuizoae+u4 / 25
- po 4194+ 0.0
o pl -35.38+ 0.00

3000

TP delay [ns]

TVC(cbch) (11,6

- 533e+04 / 25
- pO 4201 0.0
[ pl -36.08+ 0.00

3000

TP delay [ns]

TVC(ebeh)=(1, 1, 10

- C = 28.98 [ps/ch]

©1nuiz,uyse+ud | 25
= po 4226+ 0.0
L -34.51+ 0.00

3000

1
50 100

TP delay [ns]

TVC(cbch) (1,114

T rnuiLpu/e+u4 [ 25
= pD 4212+ 0.0
+ pl -36.89 + 0.00

3000
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TP delay [ns]
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TVC(cbch) (1,1,3

AT rnuiLzsie+ud [ 25
P, po 4201+ 0.0
pl -35.04+ 0.00

TP delay [ns]

TVC(c,b ch) (1 1,7

-1 nui 440e+04 / 25
- pO 4201% 0.0
pL -35.28+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 1

1)
-1 nuiLayoe+u4 / 25
- po 4229+ 0.0
p1 -35.15+ 0.00

TP delay [ns]

TVC(cbch) (1,1,15

T naia1se+ud [ 25
= pO 4203+ 0.0
p1 -35.33+ 0.00

TP delay [ns]
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TVC(cbch) (1,2,0

A7 1 nun zose+ud / 25
. po 4194+ 0.0
pl -36.75+ 0.00

TP delay [ns]

TVC(cbch) (1,24

- i 343e+04 / 25
e, pO 4212+ 0.0
p1 -35.94  0.00

50 10‘0
TP delay [ns]

TVC(ebch)=(1,2,8

1L yoze+u4 | 25
= po 4196+ 0.0
pl -35.02+ 0.00

TP delay [ns]

TVC(cbch) (1,212

1 nuiL4yse+u4 / 25
= po 4239+ 0.0
pl -36.79+ 0.00

TP delay [ns]
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1000

TVC(cbch) (1,2,1

AT rnunLszse+ud [ 25
., po 4195+ 0.0
pl -35.32+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 2

-1 nui baze+u4d [ 25
pO 4230+ 0.0
pL -35.86+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 2

T nug.zoze+ud [ 25
po 4218+ 0.0
pl -35.18 + 0.00

TP delay [ns]

TVC(C, bch) (1,213

T nuibyle+ud / 25
4237+ 0.0
-37.31+ 0.00

TP delay [ns]
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1000
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2000

4000

3000
2000

1000

TVC(cbch) (1,2,2)

AT 1nunziae+04 /25
_- po 4208+ 0.0
L pl -35.77 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,26

-1 nuiL4y5e+04 [ 25
- pO 4239+ 0.0
[ pl -36.03+ 0.00

TP delay [ns]

TVC(ebeh)=(1, 2, 10

1000

© 1L, ryge+u4 | 25
= po 4227+ 0.0
- pl -35.23+ 0.00

TP delay [ns]

TVC(cbch) (1,2 14

T a4 e+04 /25
- pD 4238+ 0.0
[ p1 -36.27 + 0.00

TP delay [ns]
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1000

TVC(cbch) (1,2,3

AT rnuiLssie+ud [ 25
- po 4202+ 0.0
pl -34.73+ 0.00

TP delay [ns]

TVC(c,b ch) (1 2,7

-1 b3be+u4 / 25
- pO 4235 0.0
pL -35.72:+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 2

Tonan17e+u4/25
= po 4250+ 0.0
pl -35.97 + 0.00

TP delay [ns]

TVC(C, bch) (1,215

TinuiLg1e+u4 /25
e pO 4234+ 0.0
p1 -36.26 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,3,0

A7 nun 349e+04 / 25
.. po 4205+ 0.0
pl -37.28+ 0.00

TP delay [ns]

TVC(cbch) (1,34

- 1L 3upe+04 / 25
™, pO 4199+ 0.0
pl -37.24+ 0.00

TP delay [ns]

TVC(cbch) (1 3,8

1nuiz.449e+04 | 25
- po 4229+ 0.0
pl -35.36+ 0.00

TP delay [ns]

TVC(cbch) (1,312

T srse+u4 [ 25
- po 4192+ 0.0
pl -33.46 + 0.00

[ C =29.88 [ps/ch]
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TP delay [ns]
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TVC(cbch) (1,31

AT 1L soze+ud [ 25
o=, po 4205+ 0.0
pl -35.88 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 3

=1 nui byze+u4d [ 25
E pO 4230+ 0.0
pL -38.51% 0.00

TP delay [ns]

TVC(c,b ch) (1 3,9

-1 nug Ugse+ud / 25
- pO 4247+ 0.0
pl -35.99 + 0.00

TP delay [ns]

TVC(C, bch) (1,313

Tonan 1 34e+u4 /25
- pO 4194+ 0.0
pl -33.58 + 0.00

[ C =29.78 [ps/ch] ]
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50 100

TP delay [ns]
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TVC(cbch) (1,3,2)

TP delay [ns]

TVC(cbch) (1,36

A~ 1nui4rve+04 /25
_- po 4209+ 0.0
o pl -36.19+ 0.00

3000

-1 nur bbze+u4 [ 25
3 pO 4230+ 0.0
[ pl -38.35+ 0.00

TP delay [ns]

TVC(cbch) (1, 3 10

1000

T nuiLgse+u4 [ 25
. po 4269+ 0.0
- pl -35.93+ 0.00

TP delay [ns]

TVC(cbch) (1,3, 14

x-rma T e12/25
-, po 4189+ 0.0
L p1 -33.49 £ 0.00

- C = 29.86 [ps/ch]
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50 100

TP delay [ns]
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1000

TVC(cbch) (1,3,3

x- 1 L doae+ud | 25
P, po 4223+ 0.0
p1 -36.67+ 0.00

TP delay [ns]

TVC(c,b ch) (1 3,7

- nui brze+u4 /25
- pO 4235 0.0
pL -37.96+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (1, 3

T bzue+u4/25
- po 4252+ 0.0
pl -35.61+ 0.00

TP delay [ns]

TVC(C, bch) (1,315

T nai zgse+ud [ 25
= pO 4198+ 0.0
-34.15+ 0.00

[ C =29.28 [ps/ch]

PR PR S S |
50 100

TP delay [ns]
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1000

TVC(cbch) (1,4,0)

4219+ 0.0

Tonu 1 oe+ud /25
-38.41+ 0.00

] -
50 100

TP delay [ns]

TVC(cbch) (14,4

- 1L z8be+u4 / 25

== po 4201+ 0.0
pl -35.08 + 0.00

50 10'0
TP delay [ns]

TVC(ebch)=(1,4,8

T rnuz4n/e+u4 [ 25
- pO 4241% 0.0
pl -36.69 + 0.00

TP delay [ns]

TVC(cbch) (1,412

©rnuiLg4se+04 / 25
= po 4206+ 0.0
pl -35.03+ 0.00

TP delay [ns]
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1000

4000
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1000

TVC(cbch) (1,41

A7 1 nuiLbzye+u4 25
F .. po 4223+ 0.0
p1 -38.97 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 4

= nur 1bye+u4 [ 25
== po 4216+ 0.0
pl -36.06 + 0.00

TP delay [ns]

TVC(c,b ch) (1,4,9

Tanan 5. 7e+04 /25
- po 4269+ 0.0
pl -36.69 + 0.00

TP delay [ns]

TVC(c,b Ch) (1, 4 13

~ 1 nuiLgb4e+u4 [ 25
- pO 4216+ 0.0
p1 -35.97 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (1,4,2)

F - o

K™ 1nuiL a4 e+04 | 25

p1 -38.12:+ 0.00

4226+ 0.0

TP delay [ns]

TVC(cbch) (1,4,6

1L, (1 /e+u4 /25

- pO 4220+ 0.0
[ pl -36.58+ 0.00

TP delay [ns]

TVC(ebeh)=(1, 4, 10

0

-z 39 /e+04 1 25
- pO 4289+ 0.0
[ pL -37.48 + 0.00

TP delay [ns]

TVC(cbch) (1,4,14

~ 1 nuiL440e+04 / 25
-, pD 4219+ 0.0
L p1 -35.88+ 0.00

TP delay [ns]
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1000
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1000

TVC(cbch) (1,4,3)

- Lsve+ud | 25
- pO 4228+ 0.0
pL -37.78:+ 0.00

TP delay [ns]

TVC(c,b ch) (1 4,7

= 1 nui Svoe+ud / 25
= po 4227+ 0.0
p1 -35.83+ 0.00

TP delay [ns]

TVC(c,b ch) (1,4,

1)
T nai/10e+u4 / 25
- po 4277+ 0.0
p1 -36.46 £ 0.00

TP delay [ns]

TVC(c,b ch) (1, 4 15

-5 rge+ud [ 25
= pO 4211+ 0.0
p1 -36.26 + 0.00

TP delay [ns]
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TVC(cbch) (1,5,0)

A1

o, PO
pl

Uyoe+u4 | 25
4190+ 0.0
-35.74+ 0.00

TP delay [ns]

TVC(cbch) (1,5,4

4ag3e+04 | 25
4222+ 0.0
-36.08 + 0.00

— po/ i,
p1
FC N
1 1 "
50 100
TP delay [ns]
TVC(ebeh)=(1,5,8)
T 1nuz434e+04 [ 25
- po 4234+ 0.0
pl -36.48 + 0.00

TP delay [ns]

TVC(cbch) (1,512

=1 nug,

233e+U4 125
4251+ 0.0
-36.05+ 0.00

TP delay [ns]
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TVC(cbch) (1,51

A 1L dnserud | 25
F.. po 4194% 0.0
pL -35.54 £ 0.00

TP delay [ns]

TVC(c,b ch) (1, 5

-1 nui ba3e+u4 [ 25
pO 4223+ 0.0
pL -36.17+ 0.00

TP delay [ns]

TVC(c,b ch) (1 59

T naiL zzoe+u5 / 25
- po 4258+ 0.0
p1 -36.28 + 0.00

TP delay [ns]

TVC(c,b Ch) (1, 5 13

~ 1 nuiz.uzse+ud | 25
- pO 4246+ 0.0
-35.91+ 0.00
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50 100

TP delay [ns]
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TVC(cbch) (1,5,2)

o, PO

pl

X~ 1 1L b3be+u4 [ 25
4199+ 0.0
-35.78+ 0.00

TP delay [ns]

TVC(cbch) (1,56

P~ b

pl

© i bsze+u4 | 25
4240+ 0.0
-36.81+ 0.00

TP delay [ns]

TVC(eb,oh)=(1, 5, 10

1000

0

= o

-1 1ug 5yge+u4 / 25
4272+ 0.0
-37.03+ 0.00

pl

TP delay [ns]

TVC(cbch) (1,514

~ o

- 1 nuiz, 190e+04 [ 25
4245+ 0.0
-35.62 + 0.00

TP delay [ns]
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TVC(cbch) (1,5,3

[ C=28.43 [ps/ch

A~ 1 nuiLYsoe+u4d | 25
pre, po 4208+ 0.0
pL -35.17:+ 0.00

L
50 100

TP delay [ns]

TVC(c,b ch) (1 57

- nu /3be+04 / 25
- pO 4242+ 0.0
p1 -35.66+ 0.00

TP delay [ns]

TVC(eh.eh)=(1,5, 11

- po

1 nuig.444e+U4 | 25
4280+ 0.0
-37+ 0.0

1
50 00

TP delay [ns]

TVC(c,b ch) (1, 5 15

- i Sye+ud [ 25
- pO 4256+ 0.0
-35.71+ 0.00

TP delay [ns]
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TVC(cbch) (1,6,0)

' po

K71 nui n4ze+04 /25
4192+ 0.0
pl -37.21+ 0.00

TP delay

TVC(cbch) (16,4

[ns]

T 14/e+04 /25
4219+ 0.0
-36.86 + 0.00

pD

e, PO
p1
FC N
1 1 -1-
50 100
TP delay [ns]
TVC(eb.ch)=(1,6,8)
©1nuz.2upe+u4 | 25
==, 4221+ 0.0
p1 -34.92 + 0.00

TP delay

TVC(cbch) (1,6,12

[ns]

T L, 3pe+u4 / 25
4231+ 0.0
-37.4+ 0.0

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,6,1)

bre+ud | 25
4197+ 0.0
-36.75+ 0.00

PSRRI

=, po

p1

TP delay [ns]

TVC(c,b ch) (1, 6

-1 nui 18be+04 / 25
4216+ 0.0
-36.29 + 0.00

TP delay [ns]

TVC(c,b ch) (1 6,9

= po

~ 1 nug.3yve+ud 25
4240+ 0.0
-35.33+ 0.00

TP delay [ns]

TVC(C, bch) (1,6, 13

SRR

(31e+U4 /25
4227+ 0.0
-36.55+ 0.00

TP delay [ns]

4000

3000

2000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (1,6,2)

1000

™, po

A~ nui ozze+V4 /25
4204+ 0.0
-37.56 + 0.00

pl

TP delay [ns]

TVC(cbch) (16,6

= P°

p1

- i 203e+04 / 25
4219+ 0.0
-35.74 + 0.00

TP delay [ns]

TVC(cbch) (1, 6 10

- o

1 nuiLyoge+u4 / 25
4255+ 0.0
-35.11 + 0.00

pl

TP delay [ns]

TVC(cbch) (1,614

T rnuiL4sse+u4 [ 25
4221+ 0.0
-36.18 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,6,3)

e po

AT 1 nuiLsole+ud [ 25
4211+ 0.0
-35.99+ 0.00

pl

TP delay [ns]

TVC(c,b ch) (1 6,7

pO
pl

-1 nui Ub/e+u4 / 25
4218+ 0.0
-35.21+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 6

= pO

T bdde+l}4/25
4245+ 0.0
-34.76 + 0.00

TP delay [ns]

TVC(C, bch) (1,6,15

T nui p4se+ud [ 25
4213+ 0.0
-36.27 + 0.00

TP delay [ns]



TVC(c,b Ch) (L, 7/ " 91)439+u4 125 TVC(ch Ch) (1 )\7' uu:!l z)b/e+04/25 TVC(eb Ch) (L x 7: " un21 4)\.1.5e+u4 125 TvC(eb Ch) (1 A7’ ”“:i 24“9*04/25
4000 - po 4184+ 0.0 4000 - po 4202+ 0.0 4000 __- po 4195+ 0.0 4000 e po 4212+ 0.0
Pl 3553+ 0.00 Pl -36.43%0.00 [ Pl -35.66+ 0.00 pL -36.71+ 0.00

-1 3000

3000 -1 3000

-1 3000

2000 - 2000 -1 2000 =1 2000

1000 -1 1000 =1 1000 - 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (17,4 TVC(cbch) (17,5 TVC(cbch) (17,6 TVC(c, bch) (1,77

=1 nuiL uyve+u4 / 25 -1 nurL 28ye+ud / 25 TnuiL rz1e+04 [ 25 - b3ve+ud [ 25
4000 o, pO 4196+ 0.0 4000 e, pO 4194£ 00 4000 4240 0.0 4000 e, pO 4221+ 00
Pl -36.89+ 0.00 Pl 36,66+ 0.00 F -37.1% 00 Pl -37.39% 0.00
3000 |~ -1 3000 -1 3000 -1 3000 |- -1
2000} 4 2000 - 2000 - 2000 4
1000f C 4 1000 - 1000 - 1000f C 4
- -
- - -
o 1 L = 0 o 1 L o 1 1 "
50 T00 50 100 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (1,7,8 TVC(cbch) (1,7, TVC(cbch) (1,7,10 TVC(cbch) (L7,

) 9) ) 1)
Tz 3yse+u4 | 25 T nug, rzoe+ud [ 25 4000 Tz pe+u4 | 25 T nuipy/e+u4 / 25
4000 b, PD 4218+ 0.0 4000 po, DO 4220+ 0.0 - DO 4227+ 0.0 4000 pom, pO 4238+ 0.0
pl -36.52+ 0.00 pl -35.84 + 0.00 r pl -35.98 + 0.00 pl -36.65+ 0.00

3000

-1 3000 - 3000 - 3000 -1

2000 B 2000 B 2000 1 2000

1000 e 1000 - 1000 E 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (1,7,12 TVC(C, bch) (1,7,13 TVC(cbch) (1,7,14 TVC(C, bch) (1,7,15

Ty zae+ud /25 T inui s3se+ud [ 25 T g3oe+u4 / 25 Tnuis1ze+ud /25
1000 o, PO 4226+ 0.0 4000 e, PO 4228+ 0.0 4000 - PD 4223+ 0.0 4000 o, PO 4231+ 0.0
pl -35.55+ 0.00 pl -36.48 + 0.00 r pl -35.54 + 0.00 pl -35.74+ 0.00

- 3000

3000 T 3000

-1 3000 =

2000 -1 2000 T 2000 -1 2000~

1000 1 1000 1000

] lo00F C = 27.98 [ps/ch

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (1,8,0)

e, po

AT inuiasie+ud /25
4173+ 0.0
-36.1+ 0.0

pl

TP delay [ns]

TVC(cbch) (18,4

= pO
pL

=i ub3e+ud / 25
4213+ 0.0
-37.92+ 0.00

L=
50 100

TP delay [ns]

TVC(cbch) (1 8,8

1 nuiLgase+u4 / 25
4203+ 0.0
-36.66 + 0.00

TP delay [ns]

TVC(cbch) (1,812

E pO

p1

T L plse+u4 / 25
4238+ 0.0
-36.61+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,8,1)

134e+u4 1 25
4201+ 0.0
-37.17 + 0.00

Ao,

e, po
pL

TP delay [ns]

TVC(c,b ch) (1, 8

- pO

pl

=1 nuiL 2u4e+04 / 25
4204+ 0.0
-37.44 % 0.00

50 100

TP delay [ns]

TVC(c,b ch) (1 8,9

== po
pl

<1 nu bube+u4 [ 25
4230+ 0.0
-36.28 + 0.00

TP delay [ns]

TVC(C, bch) (1,813

T inai p3ze+ud [ 25
4220+ 0.0
-35.38+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (1,8,2)

= po

pl

K™ 1 nui ozoe+V4 / 25
4204+ 0.0
-36.75+ 0.00

TP delay [ns]

TVC(cbch) (18,6

pO
p1

- nuiz34e+04 [ 25
4207+ 0.0
-37.14 + 0.00

TP delay [ns]

TVC(cbch) (1, 8 10

= o

© 1 nuz185e+04 / 25
4241+ 0.0
-36.19+ 0.00

pl

TP delay [ns]

TVC(cbch) (1,8 14

- pD

pl

~ 1L pyse+u4 / 25
4237+ 0.0
-37.15+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,8,3)

e po

pl

AT rnuiLoloe+ud /25
4207+ 0.0
-36.87 + 0.00

TP delay [ns]

TVC(c,b ch) (1 8,

=1, J)J_LE+U4/25
= po 4209+ 0.0
pL -37.24+ 0.00
FC E
I i
50 100
TP delay [ns]

TVC(c,b ch) (1, 8

T bu::e+u4/25
4235+ 0.0
-36.16 + 0.00

TP delay [ns]

TVC(C, bch) (1,8, 15

A rnan L

Ape+u4 | 25
4237+ 0.0
-35.94+ 0.00

TP delay [ns]



TVC(cbch)(190) TVC(cbch)(lQl) TVC(cbch)(192) TVC(cbch)(193)
T L4/e+u4 /25 AT 1 suse+ud [ 25 AT 1nui413e+04 /25 AT rnuiLblre+ud /25
4000 [, PO 4195+ 0.0 4000 fmm,, pO 4205+ 0.0 4000 e, PO 4201+ 0.0 4000 PO 4234+ 00
pl -36.22+ 0.00 pl -35.94 + 0.00 : pl -36.33 i_0.00 pl -38.19+ 0.00

3000

- 3000 -1 3000 -1 3000 -

2000 1 2000 =1 2000 -1 2000

1000 - 1000 -1 1000 =1 1000 [~

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch) (1,9,4) TVC(cbch) (1,9,5) TVC(cbch) (1,9,6) TVC(cbch) (1,9.7)
= 1L usge+u4 / 25 ~nui1u/e+u4 / 25 -1 nuiLz94e+04 [ 25 - nun 313e+04 / 25
4000, pO 4209+ 0.0 4000 e, pO 4223+ 0.0 4000 e pO 4229+ 0.0 4000 e, pO 4233+ 0.0
pl -36.37 + 0.00 pL -36.83 + 0.00 3 pl -37.06+ 0.00 pL -36.14 + 0.00
3000~ T 3000 B 3000 — — 3000 B
2000 4 2000 - 2000 — — 2000 - -
1000 C - 1000 - 1000:— C =26.98 [pS/Ch — 10001 C -
0 EY o 0 of EY 0 5 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b ch) (1,9,8) TVC(c,b ch) (1,9,9) TVC(c,b, ch) (1,9,10) TVC(c,b ch) (1,9,11)
T i 33/e+u4 / 25 T e 2bze+u4 [ 25 T nu34e+04 1 25 T i bale+u4 /25
i pO 4181+ 0.0 4000 pO 42131 0.0 e DO 4230+ 0.0 4000 4222+ 0.0
pl -34.03 0.00 pL -34.77+ 0.00 [ pl -35.68:+ 0.00 -34.23 0.00
3000 [~ B 3000 N 3000 ' 3000 -
2000 - 2000 — 2000 ' 2000 B

] 1000 1000}

ok C = 29.38 [ps/ch] wob C =29.21 [ps/chI\, 1

1 1
0 50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(lQl ) TVC(cbch)(1913) TVC(cbch)(191 ) TVC(cbch)(1915)
TinuiLs14e+04 / 25 T 345e+04 [ 25 T nuiLa5se+u4 [ 25 T 33se+u4 [ 25
i pO 4207+ 0.0 4000 [ 41954 0.0 4000 PD 4200+ 0.0 4000, 4209+ 0.0
pl -34.86 + 0.00 -34.26 + 0.00 : pl -35.42+ 0.00 -34.38 + 0.00
3000 b 3000 1 3000 _ 30001 ]
2000 B 2000 - 2000 ' 2000 E

1000 1000

1o C = 29.19 [ps/ch] ] oo C = 29.09 [ps/ch] ]

PR BRSNS | PR PR S S |
50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (1, 10 0)

T zsoe+u4 [ 25
.. pO 4197+ 0.0
pl -35.98+ 0.00

TP delay [ns]

TVC(cbch) (1,10,4

- 1y1e+u4 / 25
e pO 4185+ 0.0
p1 -34.55+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (1, 10 8

1 nuzpyge+u4 | 25
= po 4230+ 0.0
pl -37.37+ 0.00

TP delay [ns]

TVC(cbch) (1,10,12

[ C =29.40 [ps/ch]

TrnuiLzsie+u4 / 25
= po 4224+ 0.0
-34.01+ 0.00

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (1,10,1)

AT 1 nuanLzuse+ud [ 25
o=, po 4214+ 0.0
pl -35.96 + 0.00

TP delay [ns]

TVC(c, bch) (1,10,5

- nui 331e+04 / 25
e pO 4186+ 0.0
pL -35.23+ 0.00

TP delay [ns]

TVCebeh)=( 1, 10,9

~ 1 nuis r93e+ud / 25
4235+ 0.0
-36.1+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (110,13

T inui s19e+ud / 25
= pO 4228+ 0.0
pl -33.06 + 0.00

[ C=230.24 [ps/ch] ™ 7]
s *
TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (1,10,2)

A~ 1nuiLusre+ud /25
=, po 4201+ 0.0
L pl -35.04 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,10,6

T 3o /e+04 [ 25
e pO 4205+ 0.0
[ pl -35.46 + 0.00

TP delay [ns]

TVC(cbch) (1, 10 10

1000

0

Tnun1LgYe+ud /25
= po 4252+ 0.0
- pl -36.56 + 0.00

TP delay [ns]

TVC(cbch) (110,14

T rnuiLgzze+04 [ 25
. pD 4228+ 0.0
L pl -35.03+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (1,10,3)

AT rnuiL141e+04 /25
P po 4198+ 0.0
p1 -34.73+ 0.00

TP delay [ns]

TVC(c, bch) (1,10,7

~nun1.49e+04 [ 25
- pO 4217+ 0.0
pL -35.82:+ 0.00

50 1(;0
TP delay [ns]

TVC(eh.eh)=(1, 10, 11

Tonai g/ /e+u4 /25
= po 4277+ 0.0
-38.4+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (1,10,15

Tinuiag/e+04 /25
F=. 4213+ 0.0
-33.79+ 0.00

[ C =29.59 [ps/ch] ]

PR PR S S |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (1,11,0)

A7 1 nui oove+u4 / 25
o= po 4201+ 0.0
pl -37.28+ 0.00

TP delay [ns]

TVC(cbch) (1,114

- 1L 31be+u4 / 25
4206+ 0.0
-35.9+ 0.0

50 10‘0
TP delay [ns]

TVC(ebeh=(L, 11,8

©1nug puze+u4 | 25
= po 4227+ 0.0
pl -36.97 + 0.00

TP delay [ns]

TVC(cbch) (1,11, 12

X~ 11 400e+04 / 25
e, PO 4241+ 0.0
pl -36.15+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(Cbch) (1,11,1)

A1 nuiLa/verud | 25
= po 4211+ 0.0
pl -36.54 + 0.00

TP delay [ns]

TVC(cbch) (1,11,5

=1 i boge+u4 / 25
- pO 4202+ 0.0
pL -36.16+ 0.00

TP delay [ns]

TVC(eb.eh)=(1, 11, 9

~ 1 nu g34e+U4 / 25
4254+ 0.0
-37.7+ 0.0

TP delay [ns]

TVC(cbch) (1,11,13

T nui pzse+ud / 25
pO 4239+ 0.0
pl -36.66 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000

2000

4000

2000

1000

TVC(CbCh) (1, 11 2)

~rnuiLbose+ud [ 25
- pO 4225+ 0.0
L pl -37.41+ 0.00

3000

TP delay [ns]

TVC(cbch) (1,116

1000

©1nuiL4/8e+04 [ 25
- pO 4221 0.0
[ pl -36.22+ 0.00

TP delay [ns]

TVC(eb,ch)=(1, 11, 10

1000

0

X7 1 nuiz oboe+V4 / 25
- po 4271+ 0.0
- pl -37+ 0.0

TP delay [ns]

TVC(cbch) (111,14

T e+u4 [ 25
- pD 4235+ 0.0
[ p1 -37.41% 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,11,3)

AT rnuiLbsre+ud [ 25
- po 4228+ 0.0
pl -36.45 + 0.00

TP delay [ns]

TVC(cbch) (1,11,7

-1 nui buye+u4 / 25
- pO 4231% 0.0
pL -36.09+ 0.00

1
50 100

TP delay [ns]

TVC(c,b ch) (1, 11 11

-1 nui yyye+ud / 25
- po 4275+ 0.0
pl -37.12+ 0.00

TP delay [ns]

TVC(cbch) (111,15

TinuiLo//e+ud /25
e po 4245+ 0.0
p1 -37.6+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 =

3000

2000

1000

TVC(CbCh) (1, 12 0)

T 1sve+u4 / 25
P pO 4155+ 0.0
p1 -34.84+ 0.00

TP delay [ns]

TVC(cbch) (1,124

T L4y /e+u4 [ 25
4172+ 0.0
-35.3+ 0.0

50 10‘0
TP delay [ns]

TVC(ebeh)=(1, 12,8

Tz zy3e+u4 | 25
- po 4197+ 0.0
pl -35.71+ 0.00

TP delay [ns]

TVC(cbch) (1,12,12

T rnuiLg4o3e+u4 / 25
pO 4194+ 0.0
pl -35.04 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (1, 12 1)

- zave+ud [ 25
peoe.. pO 4163+ 0.0
pL -35.28+ 0.00

TP delay [ns]

TVC(cbch) (1,125

-1 nui4p1e+04 / 25
- pO 4185+ 0.0
pL -35.63+ 0.00

TP delay [ns]

TVCEebeh)=( 1, 12,9

~ 1 nug.p30e+ud / 25
= po 4202+ 0.0
p1 -34.39+ 0.00

TP delay [ns]

TVC(cbch) (112,13

- T inui ss1e+ud [ 25
= pO 4192+ 0.0
pl -35.95+ 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

4000 =,
3000
2000

1000

TVC(CbCh) (1,12,2)

AT 1nunszse+04 /25
P, po 4173+ 0.0
L p1 -35+ 0.0

3000

TP delay [ns]

TVC(cbch) (1126

© 1 nuiL435e+04 / 25
4184+ 0.0
-35.41+ 0.00

TP delay [ns]

TVC(Ee b eh)=( 1, 12, 10

©1nuz. zoge+ud | 25
= po 4224+ 0.0
L pl -35.64+ 0,00

TP delay [ns]

TVC(cbch) (112,14

- 1L 5upe+u4 / 25
pD 4208+ 0.0
pl -36.27 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (1,12,3)

AT rnuiLiyze+ud [ 25
- po 4179+ 0.0
p1 -34.52+ 0.00

TP delay [ns]

TVC(c, bch) (1,127

- nui 334e+04 / 25
e, pO 4198+ 0.0
pL -35.62:+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, 12 11

T nui sz1e+u4 / 25
= po 4216+ 0.0
p1 -34.78 + 0.00

TP delay [ns]

TVC(cbch) (1,12,15

- Tonan L zge+ud [ 25
- pO 4196+ 0.0
p1 -35.3+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,13,0)

X~ 1 g puse+U4 [ 25
PO 4204+ 0.0
pl -37.62+ 0.00

TP delay [ns]

TVC(cbch) (1,134

- 1L 489e+04 / 25
pO 4211+ 0.0
pl -35.33+ 0.00

TP delay [ns]

TVC(cbch) (1, 13 8

T rnuiLyrge+u4 | 25
- PD 4195+ 0.0
pl -34.36 + 0.00

TP delay [ns]

TVC(cbch) (1,13,12

Tl proe+ud / 25
- PO 4252+ 0.0
pl -36.67 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000 [

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,13,1)

e, po

pl

AT 1 num.Ubre+ud [ 25
4204+ 0.0
-37.03+ 0.00

TP delay [ns]

TVC(c, bch) (1,13,5

X,
po
pl

10re+u4 /25
4224+ 0.0
-35.71+ 0.00

TP delay [ns]

TVC(c,b ch) (1,13,9

~ 1 nuis, rbbe+ud / 25
4253+ 0.0
-34.85+ 0.00

TP delay [ns]

TVC(cbch) (113,13

e, pO
p1

T nuip1ye+ud / 25
4254+ 0.0
-37.01+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

TVC(cbch) (1,13,2)

TP delay [ns]

TVC(cbch) (1,136

Trnunyrze+ud [ 25
P, PO 4204+ 0.0
I pl -36.92+ 0.00

3000

= nurL, r58e+u4 [ 25
- pO 4233+ 0.0
3 pl -36.31 0.00

TP delay [ns]

TVC(cbch) (1, 13 10

~ 1 nuzya4e+04 [ 25
F DO 4264+ 0.0
- PL_ -36.46% 0.00

TP delay [ns]

TVC(cbch) (113,14

1000

T 4/4e+04 [ 25
- PD 4237+ 0.0
F pl -36.25 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,13,3)

[Fotee po

A7 1 nu,zoae+U4 [ 25
4226+ 0.0
p1 -36.41+ 0.00

TP delay

TVC(c, bch) (1,137

= pO

[ns]

-1 nui gole+u4d / 25
4239+ 0.0
pl -36.47 + 0.00

TP delay

TVC(ebeh)=(1, 13, 11

s

e, pO

[ns]

- (e+u4 25
4259+ 0.0
pl -36.03 + 0.00

TP delay

TVC(cbch) (1,13,15

[ns]

-1 baye+u4 [ 25
4257+ 0.0
pl -37.18+ 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

1
0 50 100

TVC(CbCh) (1, 14 0)

' pO

1nun g 1se+ud [ 25

pl -36.91+ 0.00

4201+ 0.0

TP delay [ns]

TVC(cbch) (1,144

- 1L z48e+04 | 25

™, pO 4178+ 0.0
pl -35.98+ 0.00

TP delay [ns]

TVC(cbch) (1,14,8

1 nuiz buse+ud | 25

e, pD 4174 0.0
-33.33 0.00

[ C =30.00 [ps/ch]

TP delay [ns]

TVC(cbch) (1,14,12

T rnuiLs15e+u4 / 25
= po 4261+ 0.0
pl -37.03+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (1,14,1)

AT 1 nunLsoze+ud [ 25
P, po 4195+ 0.0
pl -36.28 + 0.00

TP delay [ns]

TVC(c, bch) (1,145

- 1 nuiL.adge+u4 25
™, DU 4191+ 0.0
pl -37.29+ 0.00

TP delay [ns]

TVC(c, bch) (1,14,9

T inun.p/1e+u4 /25
- 4200+ 0.0
-35.2+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (114,13

T nuiv44e+04 [ 25
= pO 4254+ 0.0
pl -37.53+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

TVC(CbCh) (1,14,2)

TP delay [ns]

TVC(cbch) (1,146

A7 1 nuiquae+04 /25
__- po 4213+ 0.0
o pl -36.85+ 0.00

3000

— - rnuiL4s1e+u4 / 25
- pO 4175+ 0.0
F Pl -36.66+ 0.00

TP delay [ns]

TVC(e b eh)=( 1, 14,10

©1nuizuLse+ud / 25
= po 4224+ 0.0
- pl -34.97 + 0.00

TP delay [ns]

TVC(cbch) (1, 14,14)

1000

o 5819725
- pD 4260+ 0.0
L pl -37.11+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (1,14,3)

AT 1 nuiLsvse+ud [ 25
- po 4230+ 0.0
pl -37.22+ 0.00

TP delay [ns]

TVC(c, bch) (1,14,7

- 1nui 41ze+04 / 25
- pO 4199+ 0.0
p1 -36.34+ 0.00

1
50 100

TP delay [ns]

TVC(c,b ch) (1, 14 11

T nuip/Ye+u4 [ 25
- pO 4214+ 0.0
p1 -34.42+ 0.00

[ C =29.05 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (1,14,15

T inuipsle+ud / 25
= pO 4255+ 0.0
p1 -36.72+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (1, 15 0)

© L syve+u4 [ 25
- pO 4206+ 0.0
pl -38.09 + 0.00

L=
50 100

TP delay [ns]

TVC(cbch) (1,154

= i boe+ud / 25
- pO 42254 0.0
366+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (1, 15 8

1 nuiLg4pe+u4 | 25
- po 4226+ 0.0
pl -35.37 + 0.00

TP delay [ns]

TVC(cbch) (1,15,12)

T rnuiLgyle+u4 / 25
= po 4233+ 0.0
pl -35.51+ 0.00

TP delay [ns]

TVC(chh) (1,15,1)

4000 e po

A 1L ayse+ud [ 25
4208+ 0.0
pl -37.42+ 0.00

3000

2000

1000

TP delay

TVC(cbch) (1,155

4000 jam, pO

pl

[ns]

~ i br4e+04 [ 25
4228+ 0.0
-36.34 + 0.00

3000 -

2000

1000 [~ C

50 1(;0
TP delay

TVC(c, bch) (1, 15 9

4000 [, po

[ns]

~ 1 nug.30ve+u4 / 25
4259+ 0.0
pl -36.49 + 0.00

3000

2000

1000

TP delay

TVC(cbch) (115,13

4000 [

[ns]

T nuiove+ud [ 25
4230+ 0.0
pl -35.56 + 0.00

3000

2000

1000

TP delay

[ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (1, 15 2)

TP delay [ns]

TVC(cbch) (1,156

TrnuiLgr1e+04 /25
F pO 4228+ 0.0
L pl -38.32+ 0.00

3000

-1 nuibbg4e+04 [ 25
- pO 4230+ 0.0
[ pl -35.44 + 0.00

TP delay [ns]

TVC(cbch) (1, 15 10)

1000

0

Tz 9e+u4 | 25
- DO 4273+ 0.0
- pl -37.28 + 0.00

TP delay [ns]

TVC(cbch) (1,15,14)

T 1sve+u4 / 25
- pD 4238+ 0.0
L pl -34.9+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (1,15,3)

e po

AT 1 nuiLozoe+ud [ 25
4218+ 0.0
pl -36.94 + 0.00

TP delay

TVC(c, bch) (1,157

o= pO

[ns]

- i 53e+04 / 25
4231+ 0.0
pl -35.43+ 0.00

TP delay

TVC(eh.eh)=(1, 15, 11

- pO

[ns]

-1 nuiL oyye+ud / 25
4290+ 0.0
p1 -36.45 + 0.00

TP delay

TVC(cbch) (1,15,15

[ns]

<1 nuiLquoe+ud [ 25
4235+ 0.0
p1 -35.34+ 0.00

TP delay

[ns]



TVC(cbch)(ZOO) TVC(cbch)(ZOl) TVC(cbch)(202) TVC(cbch)(203

TonanLase+ud [ 25 AT 1 nuiLo1oe+u4 [ 25 TornuLo1e+u4 /25 AT 1 nuiLb40e+U4 / 25
4000, po 4206+ 0.0 4000, po 4220+ 0.0 4000, po 4214+ 0.0 4000 o, po 4207+ 0.0
Pl -37.69+ 0.00 Pl -37.54% 0.00 3 pl -36.6+ 0.0 Pl -36.37%0.00

3000

1 3000 =1 3000 -1 3000 -1

2000 1 2000 = 2000 = 2000

1000 — 1000 - 1000 - 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch) (2,0,4) TVC(cbch) (2,05) TVC(cbch) (2,0,6) TVC(cbch) (2,0,7)
T b.84e+04 / 25 =1 nuy U1Be+u4 / 25 ~ e Br4e+04 [ 25 -1 nui 014e+04 / 25
4000@ pO 4192+ 0.0 4000, pO 4195+ 0.0 4000 [, pO 4213+ 0.0 4000 f pO 4212+ 0.0
pL -34.84+ 0.00 pL -34.54+ 0.00 3 pl -35.47+ 0.00 pL -34.73+ 0.00
3000 - - 3000~ B 3000 ‘ ‘ 3000 7
2000 ] 2000 ] 2000 — — 2000 f- ]
1000(- C B 1001 C = 28,95 [ps/ch] E 1000:—C =28.19 [ps/ch . _ lo00r C = 28.79 [ps/ch] . ]
1 1 ~- 1 1 - : 1 1 - 1 1 1 -
50 T00 50 00 50 00 50 T00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b ch) (2,0,8) TVC(c,b ch) (2,0,9) TVC(c,b, ch) (2,0,10) TVC(c,b ch) (2,0,11)
T nua 1zze+04 [ 25 - T e, 5zbe+u4 [ 25 — T nug.ab4e+04 / 25 - " i yyle+u4 / 25
4000 b, pO 4187+ 0.0 4000 b, pO 4200+ 0.0 4000 b, pO 4226+ 0.0 4000 o p0 4235 0.0
pl -35.11+ 0.00 pL -35.94 + 0.00 [ pl -36.45+ 0.00 pL -36.22:+ 0.00

3000 -1 3000 -1 3000 -1 3000 -1

2000 ] 2000 E 2000 - 2000

1000 ] 1000 - 1000 = 1000

0

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(ZOl ) TVC(cbch)(2013) TVC(CbCh)(ZOl ) TVC(cbch)(2015)
T, ruLe+u4 / 25 T 1L bobe+u4 / 25 T az0e+04 [ 25 Ty re+u4 /25
4000 e pO 4205+ 0.0 4000 pO 42212 0.0 4000 o, PD 4218+ 00 4000 P, pO 4205% 0.0
pl -34.47 + 0.00 pl -35.75+ 0.00 r pl -35.19+ 0.00 pl -34.66 + 0.00

-1 3000

3000 _ 3000 - 3000 -1

2000 - 2000 - 2000 -1 2000

1000 1000 1000 N 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,1,0

A1 g p3ze+04 /25
— po 4221+ 0.0
p1 -40.37 + 0.00

=
50 100

TP delay [ns]

TVC(cbch) (21,4

- iU S26e+04 [ 25
- po 4178+ 0.0
pl -35.42+ 0.00

TP delay [ns]

TVC(ebeh)=(2, 1,8

<z Suse+ud [ 25
po 4216+ 0.0
p1 -36.92:+ 0.00

TP delay [ns]

TVC(cbch) (21,12

- i pz/e+u4 [ 25
= po 4205+ 0.0
p1 -35.06 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,1,1

x- 1 s, dave+ud | 25
Fe po 4215+ 0.0
pL -39.15 % 0.00

TP delay [ns]

TVC(c,b ch) (2 1,5

~ 1 naiL b44e+04 | 25
Focse po 4193+ 0.0
pl -35.78 + 0.00

TP delay [ns]

TVC(c,b ch) (21,9

s S14e+U4 ] 25
- pO 4243 0.0
-37.2+ 0.0

TP delay [ns]

TVC(c,b Ch) (2, l 13

Tanany/re+ud |25
- pO 4227+ 0.0
pl -36.59 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (2,1,2)

F— P

X~ 1w r43e+04 [ 25
4220+ 0.0

TP delay [ns]

TVC(cbch) (2,1,6

p1 -37.97:+ 0.00

© 1L bUse+u4 / 25
e pO 4198+ 0.0
[ Pl 3589+ 0.00

TP delay [ns]

TVCebeh)=(2 1, 10

- 1L 3e+Ud | 25
-, pO 4243 0.0
[ pl -35.97+ 0.00

TP delay [ns]

TVC(cbch) (21,14

=i, (Ooe+u4 [ 25
I pD 4221% 0.0
L p1 -36.34 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,1,3

A~ 1 nuig, 740e+u4 [ 25
Fuve po 4228+ 0.0
pL -37.99+ 0.00

TP delay [ns]

TVC(c,b ch) (2 1,7

=1 nuiL bble+ud / 25
. po 4198+ 0.0
p1 -35.81+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (2,1,

T, /4ue+u4/25
- pO 4248+ 0.0
-36.7 £ 0.0

1
50 00

TP delay [ns]

TVC(c,b ch) (2, 1 15

S 7 re+ud [ 25
= pO 4204 0.0
p1 -36+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,2,0)

Sove+ud | 25
4175+ 0.0
-35.15+ 0.00

A1,

- po
pl

TP delay [ns]

TVC(cbch) (2,24

™, pO
pl

- i 339e+04 / 25
4197+ 0.0
-37.36+ 0.00

TP delay [ns]

TVC(cbch) (2,2,8

= 1 nug,

e, pO
p1

1o3e+U4 /25
4191+ 0.0
-35.34+ 0.00

TP delay [ns]

TVC(cbch) (2,2, 12

A1,

e, 0
p1

1z1e+V4 /25
4237+ 0.0
-37.2+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,2,1)

A

=, po

pl

44(e+u4 | 25
4188+ 0.0
-36.31+ 0.00

TP delay [ns]

TVC(c,b ch) (2 2,5

“nun1.45e+04 [ 25
4183+ 0.0
-36.28 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 2

pO

pl

S,/ e+ud 25
4235+ 0.0
-35.61+ 0.00

TP delay [ns]

TVC(C, bch) (2,213

T nui vzve+ud [ 25
4222+ 0.0
-36.34+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (2,2,2)

- po

AT 1nuis4/e+04 /25
4193+ 0.0
-36.8+ 0.0

pl

TP delay

TVC(cbch) (2,2,6

pO
pl

[ns]

- i b33e+u4 / 25
4198+ 0.0
-37.13+ 0.00

TP delay

TVC(ebeh)=(2,2, 10

- DO

[ns]

T z.34e+04 /25
4228+ 0.0
pl -36.13 + 0.00

TP delay

TVC(cbch) (2,214

[ns]

~ i pb4e+u4 [ 25
4228+ 0.0
pl -37.06 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b ch) (2,2,

A1

e, po

pl

3

nuiL 4yse+u4 / 25
4205+ 0.0
-37.67 + 0.00

TP delay [ns]

TVC(c,b ch) (2 2,7

-
pO
pl

nuig /o8e+u4 / 25
4201+ 0.0
-37.01+ 0.00

100

TP delay [ns]

TVC(c,b ch) (2, 2

= pO

SRR & a4e+u4/25
4220+ 0.0
-35.48 + 0.00

pl

TP delay [ns]

TVC(c,b ch) (2,2,

X1

15

nuiL bgye+u4 / 25
4222+ 0.0
-35.82+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (2,3,0

A7 1 nui zyoe+U4 [ 25
. po 4206+ 0.0
pl -36.75+ 0.00

TP delay [ns]

TVC(cbch) (2,34

- 1nuiL4p1e+u4 / 25
e, pO 4208+ 0.0
pl -36.66+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (2 3,8

©rnuzg14e+04 / 25
= po 4226+ 0.0
pl -37.11+ 0.00

TP delay [ns]

TVC(cbch) (2,312

T L pse+ud /25
= po 4229+ 0.0
p1 -34.9+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,31

X1 L dsserud | 25
o=, po 4214+ 0.0
pL -36.58+ 0.00

TP delay [ns]

TVC(c,b ch) (2 3,5

-1 nui 33be+04 / 25
e, pO 4197+ 0.0
pL -35.72:+ 0.00

TP delay [ns]

TVC(c,b ch) (2 3,9

<1 nuw,pybe+ud / 25
= po 4258+ 0.0
pl -37.66 + 0.00

TP delay [ns]

TVC(C, bch) (2,313

~ 1 nuiL byge+ud / 25
- pO 4227+ 0.0
pl -34.87 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000
3000
2000

1000

TVC(cbch) (2,3,2)

AT 1nun szse+u4 /25
- po 4210+ 0.0
o pl -36.27 + 0.00

3000

TP delay [ns]

TVC(cbch) (23,6

-1 Ui 3obe+u4 / 25
e pO 4218+ 0.0
[ pl 36+ 0.0

3000

TP delay [ns]

TVC(cbch) (2, 3 10

1000

T a3 r9e+u4 | 25
. po 4269+ 0.0
- pl -36.32+ 0.00

3000

TP delay [ns]

TVC(cbch) (2,314

© i bz8e+U4 [ 25
4226+ 0.0
-34.81+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,33

AT rnuiL1yze+ud [ 25
- po 4207+ 0.0
pl -35.97 + 0.00

TP delay [ns]

TVC(c,b ch) (2 3,7

-1 nui 4ybe+04 / 25
- pO 4197 0.0
pL -35.19+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 3

T, /Uze+u4/25
- po 4258+ 0.0
pl -35.99 + 0.00

TP delay [ns]

TVC(C, bch) (2,315

T inuisloe+ud [ 25
- po 4228+ 0.0
p1 -36.08 + 0.00

TP delay [ns]



TVC(CbCh) (2,4,0) TVC(CbCh) (2,4,1) TVC(CbCh) (2 4,2) TVC(CbCh) (2,4,3)
K- 1 Sooe 04 1 25 X1 iL4Ure+Ud ] 25 i zserid 25 K- 1 Save+ud | 25
4000 fme, po 4204+ 0.0 4000 [, po 4190+ 0.0 4000 e, pO 4197 0.0 4000 fe, po 4219% 0.0
Pl 3507+ 0.00 Pl -34.61% 0.00 [ Pl -3543%0.00 Pl -36.46+ 0.00

- 3000

3000 N

1 3000 =1 3000

2000 4 2000 - 2000 ] 2000

1000 E 1000 1000 - 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (24,4 TVC(cbch) (2,4,5 TVC(cbch) (24,6 TVC(c, bch) (2,4,7

T 33/e+04 / 25 -1 4uee+ud [ 25 S bl /e+u4 [ 25 - rnu b3/e+04 / 25
4000 pO 4209+ 0.0 4000 e, pO 4218+ 0.0 4000 e, pO 4229+ 0.0 4000 e, pO 4226+ 0.0
pl -35.93 + 0.00 pL -35.98 + 0.00 3 pl -36.93+ 0.00 pL -36.42.+ 0.00
3000~ 1 3000 - 3000 [~ B 3000 1
2000 - — 2000 - 2000~ - 2000 4
10001~ C E 1000 - 1000 r C=27.08 [pS/Ch ] 1000 C -
- I 1 -
-'- -' --
1 1 1 1 1
EY 00 0 50 00 0 EY 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (2,4,8 TVC(cbch) (2,4,9 TVC(cbch) (2,4,10 TVC(c, bch) (2,4,

T nun L¥be+u4 /25 T rure+u4 [ 25 T a1 rye+u4 [ 25 T, /b/e+u4/25
4000 pO 4245+ 0.0 4000 pO 4259+ 0.0 4000 [, DO 4275500 4000, p0 4280+ 0.0
Pl -38.42%0.00 Pl -37.46% 0.00 [ PL_ -37.32+ 0.00 Pl -37.67%0.00

-1 3000

3000~ 1 3000 -1 3000 .

2000 1 2000 E 2000 B 2000 g
1000 4 1000 - 1000 - 1000 4
. - [
-
% 50 00 0 0 0

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(c,b Ch) (2, 4 12) TVC(c,b Ch) (2, 4 13) TVC(c,b Ch) (2, 4 14) TVC(c,b Ch) (2, 4 15)
~ i 434e+04 | 25 ~ 1 gpge+U4 [ 25 “nun ) 4qe+u4 [ 25 o bzze+U4 | 25
4000 [m, pO 4244+ 0.0 4000 pO 4229+ 0.0 4000 PD 4233+ 0.0 4000 o, pO 4237+ 0.0
3472+ 0.00 -35.15+ 0.00 [ Pl -3522+0.00 Pl 35164000

3000~

-1 3000 - 3000 - 3000 .

2000~ - 2000 - 2000 - 2000

wof C = 28.80 [ps/ch] ] 1000 - 5 E 1000: — 1000 4
'5(')""10'0'- ""E'd""m'o'-

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,5,0

AT 1nui1zze+04 /25
.. po 4214+ 0.0
pl -35.92+ 0.00

TP delay [ns]

TVC(cbch) (2,54

T rnuiLa4/e+04 / 25
- pO 4187+ 0.0
p1 -36.47+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (2 5,8

©1nuiz,guze+u4 | 25
- pO 4214+ 0.0
pl -34.58 + 0.00

TP delay [ns]

TVC(cbch) (2,5,12

~ i 1ope+u4 / 25
= po 4232+ 0.0
pl -34.95+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,51)

e, po

AT 1nuiLzs/e+ud [ 25

pl -35.48 + 0.00

4209+ 0.0

TP delay [ns]

TVC(c,b ch) (2 55

1 nui 4y1e+u4 | 25

- pO 4198+ 0.0
pL -37.07:+ 0.00

TP delay [ns]

TVC(c,b ch) (2 59

~ 1 nug. 1bge+ud / 25
==, 4239+ 0.0
-34.58 + 0.00

[ C =28.92 [ps/ch] ]

1
50 100

TP delay [ns]

TVC(C, bch) (2,5,13

T inaiz3ae+ud [ 25
P 4240 0.0
-34.12+ 0.00

[ C =29.31 [ps/ch] ]

PR BRSNS |
50 100

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (2,5,2)

A7 nun zeoe+u4 [ 25
_- po 4221+ 0.0
o pl -36.67 + 0.00

3000

TP delay [ns]

TVC(cbch) (2,56

- bz8e+u4 [ 25
- pO 4202+ 0.0
[ pl -36.08+ 0.00

3000

TP delay [ns]

TVC(cbch) (2, 5 10

T glie+ud / 25
- po 4251+ 0.0
- pl -35.09 + 0.00

3000

TP delay [ns]

TVC(cbch) (2,514

~1nuiLquze+u4 | 25
- pD 4247+ 0.0
L pl -35.03+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,5,3

AT 1 nuiLZoae+u4 | 25

=, po 4221+ 0.0
pl -36.85+ 0.00

TP delay [ns]

TVC(c,b ch) (2 57

Srna 1 /e+04 /25
- pO 4210+ 0.0
pL -36.25+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 5

RIS 4e+u4/25
= 4256+ 0.0
-34.55+ 0.00

[ C =28.95 [ps/ch] ]

1
50 100

TP delay [ns]

TVC(C, bch) (2,5,15

i goze+ud [ 25

- pO 4233+ 0.0
pL -34.78+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (2,6,0)

AT 1nui1yre+ud /25
4198+ 0.0
-36.11 + 0.00

1
50 100

TP delay [ns]
TVC(cbch) (2 6,4

- 1L z8be+u4 / 25
pO 4211% 0.0
p1 -35.48:+ 0.00

TP delay [ns]

TVC(cbch) (2 6,8

Tz 144e+04 [ 25
PD 4230+ 0.0
pl -37.72+ 0.00

0

50 100

TP delay [ns]

TVC(cbch) (2,6,12

T 3ye+ud /25
pO 4264+ 0.0
pl -36.53+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,6,1

AL 3ase+U4 | 25
Fee,, po 4193+ 0.0
pL -35.88+ 0.00

TP delay [ns]

TVC(c,b ch) (2 6,5

- nui 1ube+u4 / 25
Fe pO 4214+ 0.0
pL -35.17+ 0.00

TP delay [ns]

TVC(c,b ch) (2 6,9

T nuiggle+ud / 25
4268+ 0.0
-38.9+ 0.0

| _m
50 100

TP delay [ns]

TVC(C, bch) (2,6,13

Tinuiazie+ud /25
- pO 4260+ 0.0
pl -36.14 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (2,6,2)

TP delay [ns]

TVC(cbch) (26,6

AT 1nun z4se+04 [ 25
__- po 4208+ 0.0
o pl -35.51+ 0.00

3000

Tz ze+V4 [ 25
- pO 4219+ 0.0
[ pl -34.65 + 0.00

TP delay [ns]

TVC(cbch) (2, 6 10

1000

0

1 nuiLyyge+u4 | 25
3 po 4274+ 0.0
- pl -38.63 + 0.00

TP delay [ns]

TVC(cbch) (2,614

© i su4e+u4 / 25
- pD 4265+ 0.0
L pl -36.32+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,6,3

AT 1 nuiLuzye+ud [ 25
- po 4213+ 0.0
pl -35.14+ 0.00

TP delay [ns]

TVC(c,b ch) (2 6,7

- nui 18/e+04 / 25
- pO 4224+ 0.0
pL -33.69+ 0.00

[ C =29.68 [ps/ch]

50 1(;0
TP delay [ns]

TVC(c,b ch) (2, 6

T bue+u4/25
- po 4269+ 0.0
pl -37.93+ 0.00

TP delay [ns]

TVC(C, bch) (2,6,15

T inuisb/e+ud [ 25
- pO 4260+ 0.0
-35.91+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,7,0)

A1

Lobe+ud /25
4200+ 0.0
-36.26 + 0.00

TP delay [ns]

TVC(cbch) (2,7,4

1b9e+u4 / 25
4187+ 0.0
-34.93+ 0.00

— po,..u.l
pl
e -
% i
TP delay [ns]
TVC(cbch) (2 7,8
o pD

T rnuz533e+u4 [ 25
4211+ 0.0
-35.43+ 0.00

TP delay [ns]

TVC(cbch) (2,7,12

- po
p1

~rnuiLbzve+u4 / 25
4221+ 0.0
-36.63+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,7,1)

= PO

AT 1 nuLzyse+ud [ 25
4207+ 0.0
-36.73+ 0.00

p1

TP delay [ns]

TVC(c,b ch) (2 7,5

-1 nui 314e+04 / 25
4189+ 0.0
-34.96 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 7

T nugy1se+ud / 25
4223+ 0.0
-34.81+ 0.00

TP delay [ns]

TVC(C, bch) (2,7,13

= pO

~ 1 nuiLsuse+ud / 25
4212+ 0.0
-35.66 + 0.00

TP delay [ns]

4000

3000

2000

4000
3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

1000

TVC(cbch) (2,7,2)

. po

A7 1 nuizyae+04 /25
4219+ 0.0
-37.78+ 0.00

pl

TP delay [ns]

TVC(cbch) (2,7,6

pO
p1

T rnuiL4z1e+04 / 25
4217+ 0.0
-35.49 + 0.00

TP delay [ns]

TVC(ebeh)=(2, 7, 10

= 90

Tz 1z1e+04 /25
4224+ 0.0
-35.46 + 0.00

pl

TP delay [ns]

TVC(cbch) (27,14

© i bzoe+U4 [ 25
4219+ 0.0
pl -36.07 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b ch) (2,7,

A

o po
pL

3

nuiL2y/e+u4 | 25
4222+ 0.0
-36.62+ 0.00

TP delay [ns]

TVC(c,b ch) (2 7,7

-

pe=e. pO
pl

nui 48ye+u4 / 25
4212+ 0.0
-35.39+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (2, 7

. pO

Ty b4E+U4/25
4242+ 0.0
-35.52 + 0.00

pl

TP delay [ns]

TVC(c,b ch) (2,7,

X1

P, po

15

nuiLbabe+u4 / 25
4228+ 0.0
-36.48 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,8,0)

AT zise+ud /25
po 4215+ 0.0
pl -35.39 0.00

TP delay [ns]

TVC(cbch) (28,4

T L0 r3e+u4 / 25
pO 4229+ 0.0
p1 -34.76+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (2 8,8

a2 4yoe+04 [ 25
pD 4231+ 0.0
pl -36.21+ 0.00

TP delay [ns]

TVC(cbch) (2,812

T ss1e+u4 / 25
pO 4265+ 0.0
pl -36.22+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,81

AT 1 nunLzuse+ud [ 25
- po 4231+ 0.0
pl -36.09 + 0.00

TP delay [ns]

TVC(c,b ch) (2 8,5

[ C =29.45 [ps/ch]

-1 nuiL b /e+u4 / 25
pO 4226+ 0.0
-33.96+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (2 8,9

-1 naig bupe+u4 / 25
po 4237+ 0.0
pl -35.43 + 0.00

TP delay [ns]

TVC(C, bch) (2,813

T nai suse+ud | 25
pO 4247+ 0.0
pl -36.37+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (2,8,2)

AT 1nuizioe+V4 /25
po 4235+ 0.0
p1 -35.4+ 0.0

- C = 28.25 [ps/ch

1
50 100

TP delay [ns]

TVC(cbch) (28,6

- C = 29.07 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (2, 8 10

1 nuizyoyve+ud | 25
- po 4254+ 0.0
- pl -34.99 + 0.00

-1 nur 158e+04 / 25
- pO 4244+ 0.0
[ 344+ 0.0

TP delay [ns]

TVC(cbch) (2,8 14

T go3e+u4 [ 25
__ pD 4264+ 0.0
L pl -36.27 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,8,3

AT 1 nuiL134e+U4 / 25
= po 4224+ 0.0
pl -33.92+ 0.00

[ C =29.48 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(c,b ch) (2 8,7

-1 nui 340e+04 / 25
- pO 4257+ 0.0
p1 -35.64 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 8

T 4/::e+u4/25
pO 4277+ 0.0
pl -35.82+ 0.00

TP delay [ns]

TVC(C, bch) (2,815

Tinaanie+rud / 25
= po 4273+ 0.0
p1 -37.57 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,9,0)

T onuiL liae+ud [ 25
P pO 4156+ 0.0
pl -35.29+ 0.00

TP delay [ns]

TVC(cbch) (2,94

T 3p/e+u4 / 25
- pO 4202+ 0.0
p1 -37.48+ 0.00

50 100
TP delay [ns]

TVC(cbch) (2 9,8

T rnuzgg1e+u4 | 25
= po 4205+ 0.0
pl -35.62+ 0.00

TP delay [ns]

TVC(cbch) (2,9,12

T i sspe+u4 / 25
= po 4202+ 0.0
pl -36.63+ 0.00

-
TR

50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,91

AL 3a0e+U4 ] 25
. po 4171% 0.0
pL -37.32:+ 0.00

TP delay [ns]

TVC(c,b ch) (2 9,5

- nui /z24e+04 [ 25
pO 4207+ 0.0
pL -38.11# 0.00

50 1(;0 =
TP delay [ns]

TVC(c,b ch) (2 9,9

T inun, rg/e+u4 /25
= po 4218+ 0.0
pl -35.35+ 0.00

TP delay [ns]

TVC(C, bch) (2,9,13

T nai suse+ud | 25
= pO 4197+ 0.0
pl -36.12+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (2,9,2)

AT 1nuisz1e+04 /25
- po 4178+ 0.0
L pl -35.16 + 0.00

3000

TP delay [ns]

TVC(cbch) (29,6

T rnu1bre+ud [ 25
- pO 4201 0.0
[ pl -36.16 + 0.00

3000

TP delay [ns]

TVC(cbch) (2, 9 10

1000

T nuiLYrpe+u4 [ 25
= po 4239+ 0.0
- pl -35.38 + 0.00

3000

TP delay [ns]

TVC(cbch) (2,914

~ 1L buve+u4 / 25
e, pD 4207+ 0.0
F pl -37.09+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,9,3

— AT rnuiLzroe+ud [ 25
poes, po 4161+ 0.0
p1 -34.94+ 0.00

TP delay [ns]

TVC(c,b ch) (2 9,7

-1 nui bbye+ud / 25
F 4230+ 0.0
-38.1+ 0.0

1=
50 100
TP delay [ns]

TVC(c,b ch) (2, 9

T, /ibe+U4/25
= po 4235+ 0.0
pl -35.95+ 0.00

TP delay [ns]

TVC(C, bch) (2,9,15

T inuiLqu/e+ud [ 25
- pO 4201+ 0.0
p1 -36.32+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (2, 10 0)

T 1ioe+ud /25
4166+ 0.0
p1 -35.97 + 0.00

TP delay

TVC(Cbch) (2, 10 4

[ns]

- rnun183e+04 / 25
4196+ 0.0
-35.19+ 0.00

= pO
pl
- C =
1 1 -
50 100
TP delay [ns]
TVC(c,b, ch) (2, 10 8)
-1z, usbe+ud / 25
= po 4219+ 0.0
pl -36.35+ 0.00

TP delay

TVC(Cbch) (2, 10 12

E pO

[ns]

T s43e+04 / 25
4238+ 0.0
pl -35.63+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (2,10,1)

. po

A 1L z3ae+ud | 25
4167+ 0.0
pL -34.77 £ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 10 5

- nui 138e+04 / 25
4196+ 0.0
pl -34.49 + 0.00

TP delay [ns]

TVC(ebeh)=(2, 10,9

= pO

1 nug gboe+ud / 25
4243+ 0.0
p1 -35.67 + 0.00

TP delay

TVC(c,b ch) (2, 10 13

e, pO
p1

[ns]

-1 nuiLquae+ud [ 25
4233+ 0.0
-36.4+ 0.0

TP delay

[ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

1000

TVC(CbCh) (2,10,2)

F=. po

X~ 1L z3ve+u4 [ 25
4192+ 0.0
p1 -36.83+ 0.00

TP delay

TVC(Cbch) (2, 10 6

= o

[ns]

© i zoge+u4 | 25
4228+ 0.0
pl -36.02 + 0.00

TP delay

TVC(e,beh)=(2, 10, 10

= o

[ns]

©1nuz14pe+04 / 25
4274+ 0.0
pl -36.63 + 0.00

TP delay

TVC(c,b Ch) (2, 10 14

= P"

[ns]

= 1 55ze+04 [ 25
4234+ 0.0
pl -35.68+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2, 10 3)

nut

e pO

- 5407125
4193+ 0.0
pL -36.17:+ 0.00

TP delay

TVC(c,b Ch) (2, 10 7

E. pO

[ns]

- i 4n/e+04 / 25
4226+ 0.0
p1 -35.88+ 0.00

50 160
TP delay

TVC(eheh)=(2,10, 11

= pO

[ns]

1 nui o3Ye+ud / 25
4279+ 0.0
p1 -37.53+ 0.00

TP delay

TVC(cbch) (2, 10 15

[ns]

- i 1s4e+04 [ 25
4230+ 0.0
-34.6 + 0.0

[ C=28.91 [ps/ch]

PR R SRR |
50 100

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (2,11,0)

A7 nun zuse+u4 [ 25
.. po 4176+ 0.0
p1 356+ 0.0

TP delay [ns]

TVC(cbch) (2,11,4

- 1 nuiLuyge+ud / 25
4187+ 0.0
-34.8+ 0.0

50 10‘0
TP delay [ns]

TVC(ebeh)=(2, 11,8

1 nuiz.409e+04 | 25
= po 4212+ 0.0
pl -36.67 + 0.00

TP delay [ns]

TVC(cbch) (2,11, 12

X~ 1 445e+04 / 25
= PO 4233+ 0.0
pl -35.49+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,11,1)

AT rnunLzsie+ud [ 25
pee,, po 4190+ 0.0
pl -36.17 + 0.00

TP delay [ns]

TVC(cbch) (2,11,5

-1 3u8e+u4 / 25
4194+ 0.0
-35.7 £ 0.0

50 1(;0
TP delay [ns]

TVC(eh.eh)=(2, 11, 9

T nun 4. 30e+04 /25
4231% 0.0
-36+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (211,13

T nai zoye+ud / 25
- pO 4232+ 0.0
pl -35.33+ 0.00

TP delay [ns]

4000

3000

2000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

TVC(CbCh) (2, 11 2)

1000

T rnuiz4ze+04 [ 25
- pO 4199+ 0.0
L pl -36.31+ 0.00

TP delay [ns]

TVC(cbch) (2,116

-1 nuiL 3b4e+04 / 25
e pO 4202+ 0.0
[ pl -35.88+ 0.00

TP delay [ns]

TVC(e.b.ch)=(2, 11, 10

T nuiLyroe+u4 [ 25
- po 4242+ 0.0
- pl -34.98 + 0.00

TP delay [ns]

TVC(cbch) (2,11, 14

1000

X~ 1L 4p/e+04 [ 25
-, po 4242+ 0.0
[ p1 -36.24 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,11,3)

AT 1L zzoe+ud [ 25
- po 4200+ 0.0
pl -35.91+ 0.00

TP delay [ns]

TVC(cbch) (2,11,7

-/ uiLauae+ud | 25
- pO 4212+ 0.0
pL -35.81% 0.00

50 1(;0
TP delay [ns]

TVC(cbch) (2, 11 11

T nuiL430e+04 / 25
= pO 4228+ 0.0
p1 -35.18 + 0.00

TP delay [ns]

TVC(cbch) (211,15

Tinuigsie+ud [ 25
= pO 4235+ 0.0
p1 -35.79+ 0.00

TP delay [ns]
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1000

4000
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2000

1000

4000

3000

2000

1000

TVC(CbCh) (2, 12 0)

T zgoe+u4 [ 25
.. pO 4195+ 0.0
pl -37.22+ 0.00

TP delay [ns]

TVC(cbch) (2,124

- nuiL19ve+04 / 25
- pO 4219+ 0.0
pl -36.27:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (2,128

1 nuzboye+u4 [ 25
= pO 4201+ 0.0
p1 -34.82 + 0.00

TP delay [ns]

TVC(cbch) (212,12

T 143e+u4 /25
= po 4246+ 0.0
pl -36.16 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (2,12,1)

F PO

p1

AT rnuiLSr/e+u4 [ 25
4206+ 0.0
-38.18+ 0.00

TP delay [ns]

TVC(cbch) (2,125

F- pO

=1 nui 39pe+u4 / 25
4230+ 0.0
-36.67 + 0.00

TP delay [ns]

TVCEeben)=(2, 12,9

T nun 4.09e+04 / 25
= po 4227+ 0.0
p1 -35.72+ 0.

35.72+ 0.00

TP delay [ns]

TVC(cbch) (212,13

T nai suse+ud / 25
4226+ 0.0
-34.85+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (2,12,2)
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o= po 4218+ 0.0
L pl -37.42+ 0.00
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T L4 /4e+04 | 25
- pO 4235+ 0.0
- pl -36.63 + 0.00

TP delay [ns]

TVC(e b eh)=(2, 12, 10

T i, 45e+04 / 25
- po 4234+ 0.0
- pl -35.09 + 0.00
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1 nuiLsype+ud / 25
. pD 4242+ 0.0
L pl -35.84 + 0.00
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4216+ 0.0
pl -36.58 + 0.00
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TVC(c, bch) (2,12,7
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- nun bz3e+u4 / 25
4266+ 0.0
-37.6+ 0.0

50 1(;0
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TVC(cbch) (2, 12 11
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~ 1 nuiL4pbe+u4 / 25
4237+ 0.0
p1 -35.13+ 0.00
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- Ze+ud [ 25
4232 0.0
pL -35.14 + 0.00
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-1 i bYze+ud / 25
- pO 4239+ 0.0
p1 -40.03 + 0.00
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TVC(cbch) (2, 13 8

T nuiLbsge+u4 / 25
= po 4203+ 0.0
pl -36.02+ 0.00
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TVC(cbch) (213,12

T L bse+u4 / 25
= po 4229+ 0.0
-36.7 + 0.0
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TVC(c, bch) (2,135

1L, /0oe+u4 | 25

- pO 4242+ 0.0
p1 -39.49 + 0.00

TP delay [ns]
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11U 3yoe+u4 [ 25

- pO 4227+ 0.0
pL -34.83+ 0.00
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pl -36.04 + 0.00
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_- po 4211+ 0.0
L pl -36.47 + 0.00
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-, po 4239+ 0.0
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- pD 4227+ 0.0
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AT rmuiLoie+ud [ 25
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TVC(c, bch) (2,137

pl -39.13+ 0.00

F pO

- rnu123e+04 / 25
4255+ 0.0

TP delay [ns]

TVC(ebeh)=(2, 13, 11

e pO 4240% 0.0
p1 -36.34+ 0.00

1 nuiLbo1e+u4 [ 25

TP delay [ns]

TVC(cbch) (2,13,15

P pO 4227+ 0.0

iy sye+ud [ 25

35.65 + 0.00

TP delay [ns]
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T 14e+u4 [ 25
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pl -35.66 + 0.00

TP delay

TVC(cbch) (2,144

[ns]

T i 114e+04 /25
4181+ 0.0
-36.9+ 0.0

., po
pL
[ C=27.10[ps/c
5(‘) 10‘0
TP delay

TVC(cbch) (2, 14 8

[ns]

T nuig, goge+u4 | 25
4226+ 0.0
pl -37.45+ 0.00

TP delay

TVC(cbch) (2,14,12

B pO
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~ L 5e5e+U4 / 25
4212+ 0.0
pl -35.74 + 0.00
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TP delay [ns]

TVC(c, bch) (2,145

=1 nui 493e+04 / 25
4210+ 0.0
-37.32+ 0.00

TP delay [ns]

TVC(c, bch) (2,14,9

Tinun4.94e+04 1 25
= po 4250+ 0.0
p1 -37.37+ 0.

37.37 + 0.00

TP delay [ns]

TVC(cbch) (214,13

== po

T inai ruse+ud / 25
4213+ 0.0
-37.11+ 0.00

1
0

TP delay [ns]
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A7 1nunzyze+04 /25
4176+ 0.0
pl -35.82+ 0.00

TP delay

TVC(cbch) (2.14,6

[ns]

-1 nuiL489e+04 [ 25
4215+ 0.0
pl -36.57 + 0.00

- pO
F C = 27.35 [ps/ch .
" o
TP delay [ns]

TVC(e b eh)=(2, 14,10

F- o

T nuiLys/e+u4 [ 25
4260+ 0.0
pl -37.26 + 0.00

TP delay
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F=. DD
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~ 1L puse+u4 / 25
4211+ 0.0
pl -36.27 + 0.00
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TVC(c, bch) (2,14,7

E. pO
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1L a71e+04 / 25
4211+ 0.0
pl -36.11 + 0.00

TP delay

TVC(cbch) (2, 14 11

e pO
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Tonai g/ /e+u4 /25
4263+ 0.0
pl -37.59 + 0.00

TP delay

TVC(cbch) (2,14,15
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T nuip4ye+ud [ 25
4211+ 0.0
-35.91+ 0.00
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TP delay
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T rnuLzy/e+ud [ 25
4189+ 0.0
-35.7+ 0.0

50 10‘0
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TVC(cbch) (2, 15 8

Tz psze+u4 | 25
- po 4210+ 0.0
pl -36.72+ 0.00

TP delay [ns]

TVC(cbch) (2,15,12

T i syze+u4 | 25
= po 4218+ 0.0
pl -35.32+ 0.00
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pl -35.58 + 0.00
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P po 4189+ 0.0
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TVC(cbch) (2,156

-1 nuiL450e+04 / 25
4199+ 0.0
-35.9+ 0.0

TP delay [ns]

TVC(cbch) (2, 15 10
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0

T nuz3yre+ud | 25
= po 4265+ 0.0
[ p1 -37.47+ 0.00

TP delay [ns]
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T rnuiLgsse+u4 [ 25
- pD 4223+ 0.0
[ p1 -35.44 + 0.00
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- po 4196+ 0.0
pl -35.67 + 0.00
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TVC(c, bch) (2,157

S nun1.53e+04 /25
- pO 4211 0.0
pL -36.11% 0.00

TP delay [ns]

TVC(ehch)=(2, 15, 11

-1 nuiL puse+u4 25
= po 4237+ 0.0
pl -35.59 + 0.00

TP delay [ns]

TVC(cbch) (2,15,15

Tnaizsse+ud [ 25
- po 4210+ 0.0
-33.31+ 0.00

[ C=30.02 [ps/ch] %. ]
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T 1 see+ud /25
P pO 4215+ 0.0
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- po 4167+ 0.0
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pO
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=11 bgbe+u4 / 25
4207+ 0.0
-36.74 + 0.00
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50 100
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TVC(c,b ch) (3 0,9

~ 1 nup. ysze+ud [ 25
= po 4210+ 0.0
p1 -34.76 + 0.00
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4223+ 0.0
-35.79+ 0.00
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TVC(cbch) (3,0,6

pO
p1

- rnunLyzoe+ud / 25
4229+ 0.0
-38.11 + 0.00
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T zsze+u4 | 25
DO 4201+ 0.0
p1 -34.12 + 0.00

TP delay [ns]
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blse+u4 /25
4233+ 0.0
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=1 nui Yoye+u4 / 25
4237+ 0.0
-38.04 + 0.00

50 100

TP delay [ns]

TVC(c,b ch) (3, O

T, /Uée+U4/25
= po 4208+ 0.0
p1 -34.83+ 0.00

TP delay [ns]

TVC(C, bch) (3,0,15

SRR

(22e+04 1 25
4217+ 0.0
-34.77 + 0.00

TP delay [ns]
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- i 739e+04 [ 25
po 4199+ 0.0
pl -36.12+ 0.00
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TVC(cbch) (3 18

i f1rewud [ 25
po 4189+ 0.0
p1 -35.45+ 0.00

TP delay [ns]

TVC(cbch) (31,12

T 47e+04 /25
pO 4212+ 0.0
pl -34.77 + 0.00
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- pO 4194+ 0.0
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= 1nuz 2uze+0d | 25
= po 4217+ 0.0
p1 -36.68 + 0.00
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TP delay [ns]

TVC(c,b ch) (3, l

- S uue+u4/25
= pO 4212+ 0.0
p1 -36.29+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 1 15

- i poge+u4 [ 25
4217+ 0.0
-35.31+ 0.00

TP delay [ns]
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- 1 nuiL459e+04 / 25
4176+ 0.0
-35.63+ 0.00
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4234+ 0.0
-36.49+ 0.00
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T rnuizyure+ud [ 25
4274+ 0.0
-38.29 + 0.00
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-37.35+ 0.00
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4233+ 0.0
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= pO 4209+ 0.0
p1 -34.32:+ 0.00
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50 10‘0
TP delay [ns]
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pl -35.31+ 0.00

TP delay [ns]

TVC(cbch) (3,312

T L pule+u4 / 25
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- pO 4222+ 0.0
p1 -35.45+ 0.00
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pO 4248+ 0.0
p1 -34.69+ 0.00

[ C =28.82 [ps/ch] ]
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TP delay [ns]

TVC(c,b ch) (3, 3

T ab::e+u4/25
= po 4250+ 0.0
pl -36.78 + 0.00
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A~ 1 nuiLboye+usd [ 25
4204+ 0.0
-36.66 + 0.00

pl

TP delay [ns]

TVC(c,b ch) (5 4,7

=
pO
pl

1.9e+04 /25
4212+ 0.0
-36.91+ 0.00

50 00

TP delay [ns]

TVC(c,b ch) (5, 4

T a41e+u4/25
4264 £ 0.0
-37.59 + 0.00

TP delay [ns]

TVC(c,b ch) (5, 4 15

- i plse+ud [ 25
4219+ 0.0
-35.27 + 0.00

TP delay [ns]



TVC(cbch) (5,5,0

4000

3000

2000

1000

AT 1nuis10e+04 /25
., po 4183+ 0.0
pl -36.47 + 0.00

TP delay [ns]

TVC(cbch) (55,4

4000

3000

2000

1000

- i Zobe+u4 / 25
pO 4186+ 0.0
pl -36.87:+ 0.00

TP delay [ns]

TVC(cbch) (5 58

4000

3000

2000

1000

0

©1nug Zose+u4 | 25
4239+ 0.0
-37.51+ 0.00

0

TP delay [ns]

TVC(cbch) (55,12

4000

3000

2000

1000

i bove+u4 / 25
pO 4229+ 0.0
pl -35.38+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,5, 1

A7 1 nuiLoooe+ud [ 25
- po 4190+ 0.0
pl -38.02+ 0.00

TP delay [ns]

TVC(c,b ch) (5 55

“nui1b/e+04 / 25
4190+ 0.0
-37+ 0.0

TP delay [ns]

TVC(c,b ch) (5 59

<1 nu b40e+u4 [ 25
- pO 4264+ 0.0
pl -37.52+ 0.00

TP delay [ns]

TVC(C, bch) (5,5,13

T inuiLgive+ud [ 25
= pO 4228+ 0.0
pl -34.79+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (5,5,2)

A7 1nun zsse+u4 [ 25
P po 4203+ 0.0
L pl -37.01+ 0.00

3000

TP delay [ns]

TVC(cbch) (5,56

T L4 /e+04 [ 25
- pO 4202+ 0.0
[ pl -36.27 + 0.00

3000

TP delay [ns]

TVC(cbch) (5, 5 10

1000

0

T 1nuzbgse+u4 [ 25
-, po 4270+ 0.0
- pl -37.19+ 0.00

3000

TP delay [ns]

TVC(cbch) (55,14

T bz1e+04 /25
. pD 4240+ 0.0
L pl -36.02 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,5,3

AT Lz re+ud [ 25
poee, po 4208+ 0.0
pl -36.09 + 0.00

TP delay [ns]

TVC(c,b ch) (5 57

-1 nui byze+u4 [ 25
e, pO 4206+ 0.0
pL -36.22:+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (5, 5

EEALEVX Ubbe+U4/25
- po 4266+ 0.0
pl -37.17 + 0.00

TP delay [ns]

TVC(C, bch) (5,5,15

T nuiasoe+ud [ 25
4229+ 0.0
-35.01+ 0.00

TP delay [ns]



TVC(eb.ch)=(5,6,0) TVC(eb.ch)=(5,6, 1) TVC(eb,ch)=(5, 6,2) TVC(eD.ch)=(5,6,3)
X~ 1L dLse+0d [ 25 X~ 1 Suae+ud 25 X~ 1154 (e+04 25 A~ Zze+ud | 25
4000 po 41812 0.0 4000 po 4197+ 0.0 4000 po 4210+ 0.0 4000 po 4213+ 0.0
pl -37.7+ 0.0 pL -38.4+ 0.0 [ pl 3852 0.00 pl_ -37.88% 0.00

3000 - 1 3000 - -1 3000

-1 3000

2000 f~ N 2000 - -1 2000 -1 2000

=1 1000 [~

wol- C = 26.53 [ps/c ] wol- C = 26.04 [ps/c .

0 [l
50 00

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

L=
50 100

TVC(cbch) (56,4 TVC(cbch) (5.6, TVC(cbch) (56,6 TVC(c, bch) (5.6,

T, 24‘_79+UA 125 T, 2b4&+04/25 T, 2ue+u4 125 T, )dde+l)4/25
4000, pO 4195+ 0.0 4000 fom, pO 4188+ 0.0 4000 e, pO 4194+ 0.0 4000 e, pO 4205+ 0.0
Pl -37.22%0.00 Pl -37.17% 0.0 3 pl -37.18+ 0.00 Pl -36.47%0.00
3000 - 3000 =1 3000 =1 3000 -
2000~ E 2000 E 2000~ E 2000 E
woo- C = 26.87 [ps/c ] 1000 ] woo- C = 26.90 [ps/c 7] 1000 C ]
- [ - ] -
1 1 - 1 1 - 1 , =
0 EY 00 0 0 50 00 0 EY 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (5 6,8 TVC(cbch) (5 6,9 TVC(cbch) (5, 6 10 TVC(cbch) (5, 6

1 nuiz.4upe+u4 / 25 T nubve+ud [ 25 T nuzp3pe+ud / 25 T nan aue+u4/25
4000 PD 4216+ 0.0 4000 b, DO 4224+ 0.0 4000 - DO 4242+ 0.0 4000 fom, pO 4245+ 0.0
pl -36.15+ 0.00 pl -36.22 + 0.00 r pl -36.88 + 0.00 pl -36.15+ 0.00

3000

-1 3000 - 3000 - 3000 -1

2000 E 2000 E 2000 - 2000

1000 -1 1000 -1 1000 -1 1000

0

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

0

TVC(cbch) (5,6,12 TVC(C, bch) (5.6,13 TVC(cbch) (56,14 TVC(C, bch) (5.6, 15

T Ly /e+u4 /25 T inuibzie+ud [ 25 ~ 1L bo4e+04 / 25 T 1naiquse+ud [ 25
4000 PO 4233+ 0.0 4000 g, PO 4221+ 0.0 4000 - PD 4211+ 0.0 4000 PO 4229+ 0.0
pl -36.24 + 0.00 pl -36.3+ 0.0 r pl -35.89+ 0.00 pl -36+ 0.0

3000

-1 3000 - 3000 - 3000 -1

2000 . 2000 - 2000 -1 2000

1000 -1 1000 -1 1000 - 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (5,7,0)

- Lsverud | 25
- PO 4199+ 0.0
pl -36.39:+ 0.00

TP delay [ns]

TVC(cbch) (57,4

T rnuiL41ze+04 / 25
4211+ 0.0
-37.1+ 0.0

TP delay [ns]

TVC(cbch) (5 7,8

T, [ rge+u4 | 25
- PD 4225+ 0.0
pl -36.47 + 0.00

TP delay [ns]

TVC(cbch) (57,12

T i ss4e+U4 / 25
- PO 4249+ 0.0
pl -35.77 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (57,1

AT 1L asse+ud [ 25
', PO 4213+ 0.0
pl -36.35+ 0.00

TP delay [ns]

TVC(cbch) (57,5

Trna Yyob9 / 25
DU 4213+ 0.0
pL -36.32.+ 0.00

TP delay [ns]

TVC(c,b ch) (5 7,9

-1 nug.byze+ud [ 25
DO 4256+ 0.0
pl -36.48 + 0.00

TP delay [ns]

TVC(C, bch) (5.7,13

T nuiLasse+ud [ 25
PO 4253+ 0.0
-36.31+ 0.00

PR BRSNS |
50 100

TP delay [ns]

4000

2000

1000

4000
3000

2000

4000

2000

1000

4000
3000
2000

1000

TVC(cbch) (5,7,2)

X~ 1L srze+U4 /25
- po 4205 0.0
F pl -36.41+ 0.00

3000

TP delay [ns]

TVC(cbch) (57,6

1000

- i bb3e+ud / 25
4219+ 0.0
-36.4+ 0.0

TP delay [ns]

TVC(cbch) (5, 7 10

T rnuLBy/e+u4 [ 25
- DO 4253+ 0.0
I pl -36.04 + 0.00

3000

TP delay [ns]

TVC(cbch) (57,14

~ i sose+ud / 25
PD 4253+ 0.0
pl -35.49 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,7,3

AT 1 nuiL449e+U4 | 25
- po 4224+ 0.0
pL -36.48+ 0.00

TP delay [ns]

TVC(c,b ch) (5 7,7

-1 nui 4b3e+04 / 25
- PO 4230+ 0.0
pl -35.31+ 0.00

TP delay [ns]

TVC(c,b ch) (5, 7

SRR bdie+l}4/25
4256+ 0.0
-36.8 + 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (57,15

T s83se+u4 [ 25
- pO 4254+ 0.0
-35.31+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,8,0

A7 nuiuzve+ud /25
e, po 4212+ 0.0
pl -35.12+ 0.00

TP delay [ns]

TVC(cbch) (58,4

T i 1zze+04 [ 25
e pO 4192+ 0.0
p1 -34.84+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5 8,8

T nuig.g34e+04 / 25
= po 4222+ 0.0
pl -35.95+ 0.00

TP delay [ns]

TVC(cbch) (5,812

T rnuiLzole+u4 / 25
- po 4262+ 0.0
pl -35.59 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,81

XL 2a1e+Ud | 25
e, po 4196+ 0.0
pL -35.11 £ 0.00

TP delay [ns]

TVC(c,b ch) (5 8,5

-1 nu Zg3e+u4d [ 25
o pO 4196+ 0.0
p1 -36.34 + 0.00

TP delay [ns]

TVC(c,b ch) (5 8,9

T nu 310e+u4 / 25
4251% 0.0
-36.9 + 0.0

TP delay [ns]

TVC(C, bch) (5,813

T inui s1se+ud [ 25
- pO 4266+ 0.0
pl -36.46 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000
3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (5,8,2)

AT 1nuii/1e+04/25
__— po 4199+ 0.0
L pl -35.47 + 0.00

3000

TP delay [ns]

TVC(cbch) (58,6

Srnu137e+04 125
e pO 4220+ 0.0
L pl -35.64+ 0.00

TP delay [ns]

TVC(cbch) (5, 8 10

© 1 nuiLysse+u4 | 25
4262+ 0.0
-35.9+ 0.0

TP delay [ns]

TVC(cbch) (5,814

T 1sze+u4 / 25
- pD 4248+ 0.0
L -34.6 + 0.0

- C = 28.90 [ps/ch]

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,8,3

AT rnuiLzore+ud [ 25
- po 4228+ 0.0
pl -36.36 + 0.00

TP delay [ns]

TVC(c,b ch) (5 8,7

-1 nui 3yye+u4 / 25
- pO 4214+ 0.0
pL -35.22:+ 0.00

TP delay [ns]

TVC(c,b ch) (5, 8

Tonan17e+u4/25
- po 4275+ 0.0
pl -36.85+ 0.00

TP delay [ns]

TVC(C, bch) (5,815

T nai z4ze+u4 [ 25
- pO 4238+ 0.0
p1 -34.99 + 0.00

TP delay [ns]



TVC(c,b Ch) (5,9,0) TVC(c,b Ch) (5,9,1) TVC(c,b Ch) (5,9,2) TVC(c,b Ch) (5,9,3)
X~ 1 0are0a ] 25 % 1idure+ua ] 25 X~ Lsie+04 ] 25 % 1L Groe+ud ] 25
4000 f, po 4229% 0.0 4000 [, po 42271 0.0 4000 e, po 4232+ 0.0 4000 s po 42521 0.0
Pl -36.64% 0.00 Pl -36.740.00 [ Pl -36.95: 0.00 pl  -37.23% 0.00

3000

-1 3000 =1 3000 =1 3000 -1

2000 - 2000 =1 2000 =1 2000

1000 - 1000 =1 1000 =1 1000

0, 0, 1 0, L 1 1 -F ] 0,
50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch) (5,9,4) TVC(cbch) (5,9,5) TVC(cbch) (5,9,6) TVC(cbch) (5.9,7)
- i 3z0e+u4 / 25 -1 nui 345e+04 / 25 -1 nuiL549e+04 [ 25 ~nuai /ure+u4 [ 25
4000 e pO 42141 00 4000 pO 4222+ 0.0 4000 fe, pO 4243+ 0.0 4000 e, pO 4250+ 0.0
Pl -36.58+ 0.00 Pl -36.04% 0.00 3 pl -37.42+ 0.00 -37.3+ 0.0
3000 [ B 3000 [ — 3000 — — 3000 B
2000~ B 2000 [ E 2000 — — 2000 B
1000 C - 10001~ C - 1000:— C=26.72 [pS/C — 1000 -
0 EY o 5 T = 0 EY 0 =] 0 5 0o
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(eb.ch)=(5,9,8) TVC(eb,oh)=(5,9,9) TVC(eb.oh)=(5, 9, 10) TVC(e.heh)=(5, 9, 11)
©1nu 3oge+ud [ 25 T, r15e+04 [ 25 Tnuzize+u4 [ 25 -1 gube+u4 / 25
4000 pO 4218+ 0.0 4000 pO 4238+ 0.0 4000 o DO 4239+ 0.0 4000 o, p0 4247+ 0.0
pl 35+ 0.0 Pl -34.52% 0.00 ! Pl -33.64+ 0.00 Pl -34.54: 0.00
3000 B 3000 - 3000 ] 3000 E
2000 1 2000 — 2000 ] 2000 1
1000 ] o C = 28.97 [ps/chl™, 1 wob € = 29.73 [ps/ch] ™. 1 wor C = 28.95 [ps/ch]™, 1
1 1 - [ 1 1 ~- 1 1 1 "
50 00 0 50 100 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(591 ) TVC(cbch)(5913) TVC(cbch)(591 ) TVC(cbch)(5915)
T groe+ud [ 25 T z7oe+u4 [ 25 T i 10oe+u4 / 25 T za1e+04 [ 25
4000 e pO 4243 0.0 4000 [ pO 4244 0.0 4000 4228+ 0.0 4000 e, pO 4248+ 00
pl -35.98 + 0.00 pl -36.23+ 0.00 r -34.22+ 0.00 pl -35.54 + 0.00
3000 B 3000 — 3000} ] 3000 E
2000 - 2000 — 2000k ] 2000 E

1000 1 1000 1000

wol C = 29.22 [ps/ch]™, 7

PR IR SRR |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000 [,

3000

2000

1000

TVC(CbCh) (5, 10 0)

©rnuiLuyve+u4 / 25
4159+ 0.0
-35.31+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (5.10,4

T i 1.0ze+u4 /25
pO 4212+ 0.0
pl -35.29+ 0.00

TP delay [ns]

TVC(cbch) (5, 10 8

T rnug1yle+u4 / 25
= po 4219+ 0.0
p1 -36.42 + 0.00

TP delay [ns]

TVC(cbch) (5,10, 12

T rnaiLzure+u4 /25
pO 4248+ 0.0
pl -36.59 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (5,10,1)

AT 1 nunL1ooe+ud [ 25
pee,, po 4185+ 0.0
pl -35.16 + 0.00

TP delay [ns]

TVC(c, bch) (5,105

=1 nuiL UbYe+ud / 25
4205+ 0.0
-35.1+ 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (5, 10

T nug. r40e+u4 / 25
- pO 4240+ 0.0
pl -36.43 + 0.00

TP delay [ns]

TVC(cbch) (510,13

T inai zoze+ud | 25
P pO 4257+ 0.0
pl -36.13+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (5, 10 2)

TP delay [ns]

TVC(c,b,ch)=(5, 10, 6

1000

TnuiL 1ioe+ud [ 25
o=, pO 4179+ 0.0
L pl -34.95+ 0.00

3000

b, ,10,6)
T P SRALT] 9402 / 25
- po 4227+ 0.0
- pl -36.59 + 0.00

TP delay [ns]

TVC(cbch) (5, 10 10

1000

0

1 nuiz zz3e+04 | 25

==, po 4266+ 0.0
L pl -37.35+ 0.00

TP delay [ns]

TVC(cbch) (5.10, 14

1 nui 1v4e+u4 | 25

__ pD 4250+ 0.0
L pl -36.23+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5, 10 3)

T 1ze+u4 /25
- pO 4185+ 0.0
pl -35.31+ 0.00

TP delay [ns]

TVC(c, bch) (5,10, 7

- nublie+ud [ 25
- pO 4233+ 0.0
p1 -35.74+ 0.00

TP delay [ns]

TVC(cbch) (5, 10 1

T nui og3e+u4 / 25
= po 4258+ 0.0
pl -35.91+ 0.00

TP delay [ns]

TVC(cbch) (5.10,15

T nai1yse+ud / 25
= pO 4230+ 0.0
p1 -35.76 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (5,11,0)

[ C =29.69 [ps/ch]

X~ 1w 1yse+u4 [ 25
e po 41652 0.0
-33.68+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (5, 11 4

- i z39e+04 [ 25
5 po 4226+ 0.0
pl -35.55+ 0.00

50 10'0
TP delay [ns]

TVC(cbch) (5, 11 8

S nuizo ze+0d [ 25
e, pD 4224+ 0.0
pl -36.77 + 0.00

TP delay [ns]

TVC(c,b Ch) (5,11, 12

X~ 1 45 /e+04 /25
= PO 4238+ 0.0
pl -36.71+ 0.00

TP delay [ns]

TVC(CbCh) (5,11,1)

4000 [ po

p1

AT 1nuiLzi3e+u4 [/ 25
4178+ 0.0
-33.55+ 0.00

3000

2000

w00 C = 29.80 [ps/ch]

1 1
50 100

TP delay

TVC(c,b Ch) (5, 11 5

4000 e DO

pl

[ns]

“nui 3s/e+u4 [ 25
4217+ 0.0
-36.04 + 0.00

3000 -

2000

1000 [~ C

50 150
TP delay

TVC(cbch) (5, 11 9

4000

[ns]

T inun,5/e+u4 [ 25
4244+ 0.0
-35.5+ 0.0

3000

2000

1000

1
50 00

TP delay

TVC(c,b ch) (5, 11 13

4000 e pO

[ns]

)

Tonan g soe+ud [ 25
4235+ 0.0
p1 -36.77 + 0.00

3000

2000

1000

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000
3000
2000

1000

4000

2000

1000

TVC(CbCh) (5,11, 2)

- C =30.00 [ps/ch]

X~ 1w L abe+ud [ 25
. po 4185+ 0.0
[ p1 -33.33 0.00

1
50 100

TP delay [ns]

TVC(chh) (5, 11 6

-1 bu3e+u4 / 25
pe, pO 4237+ 0.0
[ pl -36.95+ 0.00

TP delay [ns]

TVC(e,Deh)=(5, 11, 10

X© 1 L ysoe+Ua | 25
4249+ 0.0
-35.1% 0.0

TP delay [ns]

TVC(c,b Ch) (5,11, 14

X~ 1L 4uve+U4 [ 25
- po 4227+ 0.0
L pl -35.48 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,11,3)

o po

A~ 1 nuiL, 138e+U4 [ 25
4184+ 0.0
pL -33.23+ 0.00

[ C =30.10 [ps/ch] S
gé o
TP delay [ns]

TVC(CbCh) (5, 11 7

- pO

- nui /3be+u4 / 25
4250+ 0.0
p1 -36.56+ 0.00

TP delay

TVCEDCN)=(5, 11, 11

e pO

[ns]

~ 1 nuia49e+04 / 25
4251+ 0.0
pl -35.85+ 0.00

TP delay

TVC(c,b Ch) (5, 11 15

e pO
p1

[ns]

T inuiLqu/e+ud [ 25
4225+ 0.0
-35.4+ 0.0

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000 =,

3000

2000

1000

TVC(CbCh) (5, 12 0)

T 1uoe+u4 / 25
P pO 4182+ 0.0
p1 -34.77 + 0.00

TP delay [ns]

TVC(cbch) (5.12,4

T i 1.39e+04 /25
[, PO 4203+ 0.0
pl -36.97 + 0.00

TP delay [ns]

TVC(cbch) (5, 12 8

T rnuiLyl/e+u4 [ 25
= po 4199+ 0.0
pl -36.22 + 0.00

TP delay [ns]

TVC(cbch) (512,12

© i sose+u4 / 25
pO 4214+ 0.0
pl -36.12+ 0.00

TP delay [ns]

TVC(chh) (5,12,1)

3000

2000

1000

AT rnunLiule+ud /25
4000 [, po 4218+ 0.0
pl -35.78 + 0.00

TP delay [ns]

TVC(cbch) (5,125

4000 S

3000

2000 -

1000 [~

-1 nui 394e+04 / 25
pO 4206+ 0.0
p1 -36.44 + 0.00

TP delay [ns]

TVCEDCh)=(5, 12,9

4000

3000 -

2000 -

1000 [~

T nun.uzse+ud [ 25
= 4213+ 0.0
-36.6 + 0.0

1
50 100

TP delay [ns]

TVC(cbch) (512,13

4000 [,

3000

2000

1000

T nai suge+ud / 25
- pO 4196+ 0.0
p1 -35.6 + 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,
3000
2000

1000

4000 =,
3000
2000

1000

TVC(CbCh) (5,12,2)

- C = 29.36 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (5.12,6

AT 1nuiLuzse+ud /25
__— po 4192+ 0.0
[ p1 -34.06 + 0.00

= 1 nur boye+ud [ 25
- pO 4209+ 0.0
[ pl -36.31¢ 0.00

TP delay [ns]

TVC(cbch) (5, 12 10

©1nuz 3yse+u4 | 25
po 4240+ 0.0
pl -36.09 + 0.00

TP delay [ns]

TVC(cbch) (5.12, 14

T gsoe+u4 / 25
pD 4199+ 0.0
pl -35.57 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,12,3)

AT 1L 1ooe+ud [ 25
o=, po 4195+ 0.0
pl -35.61+ 0.00

TP delay [ns]

TVC(c, bch) (5,127

= 11U bbye+u4 / 25
- pO 4220+ 0.0
pL -36.71% 0.00

50 1(;0
TP delay [ns]

TVC(eheh)=(5, 12, 11

T naiL rope+u4 / 25
= po 4235+ 0.0
pl -35.54 + 0.00

TP delay [ns]

TVC(cbch) (5.12,15

- T nuig15e+u4 /25
po 4204+ 0.0
-35.42+ 0.00

TP delay [ns]



TVC(CbCh) (5, 13 0)

4000

3000

2000

1000

- 1 nuizugae+ud [ 25
- pO 4290+ 0.0
p1 -37.26+ 0.00

TP delay [ns]

TVC(Cbch) (5, 13 4

4000

3000

2000

1000

= rnuiL103e+04 / 25
o po 4228+ 0.0
pl -36.39+ 0.00

50 5
TP delay [ns]

TVC(eb.oh)=(5, 13,8

4000

3000

2000

- 19 e+ud [ 25
— pD 4268+ 0.0
pl -34.21+ 0.00

1000~ C = 29.23 [pS/Ch]

0

50

1
100

TP delay [ns]

TVC(Cbch) (5, 13 12)

4000 fon po

p1

- 1L 1ive+ud [ 25
4234+ 0.0
-35.14 + 0.00

3000

2000

1000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (5,13,1)

K-z L/1e+U4 /25
e po 4282+ 0.0
pl -37.14+ 0.00

TP delay [ns]

TVC(c,b Ch) (5, 13 5

- nui 183e+04 / 25
[, pO 4216+ 0.0
pL -36.09 + 0.00

TP delay [ns]

TVC(eb.oh)=(5, 13,9

-/ 1uw.UBae+U4 ] 25
- pO 4303 0.0
pL -35.86+ 0.00

TP delay [ns]

TVC(c,b ch) (5, 13 13

== pO

Tinuig/e+ud [ 25
4237+ 0.0
-35.31+ 0.00

P R TR |
50 100

TP delay

[ns]

4000

2000

1000

4000
3000
2000

1000

4000

:

1000;- C =28.36 [ps/ch] - '
! - s

4000

3000
2000

1000

TVC(CbCh) (5,13,2)

X~ 1 nuizsuie+u4 /25
- po 4298+ 0.0
[ p1 -37.58+ 0.00

3000

TP delay [ns]

TVC(Cbch) (5, 13 6

- rnuiLz1ve+u4 [ 25
pO 4247+ 0.0
p1 -37.24+ 0.00

TP delay [ns]

TVC(cbch) (5, 13 10

“rnuz 11 /e+ud [ 25
- po 4315+ 0.0
r p1 -35.26+ 0.00

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,13,3)

A1 nuaiLsage+ud | 25
- po 4308+ 0.0
p1 -36.73+ 0.00

TP delay [ns]

TVC(c,b Ch) (5, 13 7

-1 nun 3o8e+u4 / 25
- pO 4259+ 0.0
p1 -37.32:+ 0.00

50 100
TP delay [ns]

TVC(cbch) (5, 13, 1)

- pO

[ C =28.45 [ps/ch]

wun 4587 / 25
4318+ 0.0
-35.15+ 0.00

50

1
100

TP delay [ns]

TP delay [ns]

TVC(CbCh) (5, 13 14

~ o

T rnuiLzipe+u4 / 25
4242+ 0.0
pl -35.47 + 0.00

TP delay

[ns]

TVC(cbch) (5, 13 15

4000 e, PO

- zs3e+ud [ 25
4250+ 0.0
-35.54 + 0.00

3000

2000

1000

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5.14,0)

©rnuzsuve+ud [ 25
[Fouse PO 4239+ 0.0
pl -36.52+ 0.00

TP delay [ns]

TVC(cbch) (5,144

= 1 i z0pe+u4 / 25
pO 42441 0.0
pl -36.23 0.00

TP delay [ns]

TVC(cbch) (5, 14 8

1 nuig,gove+u4 / 25
- PD 4204+ 0.0
pl -35.39+ 0.00

TP delay [ns]

TVC(cbch) (514,12

TonunLose+ud /25
[ pO 4285+ 0.0
pl -37.46 + 0.00

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,14,1)

A™ 1 nuzobbe+ud [ 25
[Fomsn, po 4232+ 0.0
pl -35.65+ 0.00

L 1
50 100

TP delay [ns]

TVC(c, bch) (5,14,5

S nun1.21e+04 /25
[ DU 4256+ 0.0
pL -37.01 0.00

TP delay [ns]

TVC(c, bch) (5, 14 9

1 nu.p4be+U4 / 25
- DO 4236+ 0.0
pl -34.87 + 0.00

TP delay [ns]

TVC(cbch) (514,13

T oige+u4 / 25
= pO 4270+ 0.0
pl -36.28 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (5,14,2)

K™ 1 nuigoyze+u4 /25
[ PO 4242+ 0.0
- pl -35.65+ 0.00

- C = 28.05 [ps/ch

1
50 100

TP delay [ns]

TVC(cbch) (5.14,6

- i 310e+04 / 25
™ pO 42491 0.0
L pl -35.92:+ 0.00

TP delay [ns]

TVC(cbch) (5, 14 10

Tnubize+u4 [ 25
- DO 4237+ 0.0
L pl -34.76 + 0.00

TP delay [ns]

TVC(cbch) (5. 14,14

T i ssye+ud [ 25
- PD 4259+ 0.0
L pl -36.16 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,14,3)

A rwwu/e+u4/25
[ PO 4235+ 0.0
pl -34.89 + 0.00

TP delay [ns]

TVC(c, bch) (5,14, 7

~nun1.49e+04 [ 25
[ PO 4277+ 0.0
pL -36.09 + 0.00

TP delay [ns]

TVC(cbch) (5,14, 11

~ 1 nui yzze+u4 [ 25
- pO 4235+ 0.0
pl -34.69 + 0.00

TP delay [ns]

TVC(cbch) (514,15

T bb4e+u4 [ 25
- pO 4262 0.0
pl -35.94 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000 [,

3000

2000

1000

1
0 50 100

TVC(cbch) (5.15,0)

- slie+ud [ 25
Fomee, PO 4198+ 0.0
pl -37.1+ 0.0

[ C =26.95 [ps/c 7

1
50 100

TP delay [ns]

TVC(cbch) (5.15,4

S i 1.29e+04 1 25
o pO 41941 0.0
pl -35.77 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5, 15 8

1 nuiz boge+ud | 25

- -

4221+ 0.0
36.3+ 0.0

TP delay [ns]

TVC(cbch) (5,15, 12

Tz zooe+ud [ 25
PO 4223+ 0.0
pl -34.73+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,15,1)

A” 1 uiL4pse+U4 [ 25
e PO 4183+ 0.0
pl -36.39.+ 0.00

TP delay [ns]

TVC(cbch) (5,155

u YoU4 / 25
DU 4204+ 0.0
pl -35.75+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (5, 15

T nup, 733e+U4 / 25
4246+ 0.0
-37.3+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (5.15,13

T zbe+ud /25
- PO 4224+ 0.0
pl -36.19 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

1000

0

TVC(cbch) (5,15,2)

K™ 1 nuiozye+ud /25

TP delay [ns]

TVC(cbch) (5.15,6

e po 4209+ 0.0
I pl -36.67 + 0.00

3000

111urL.455e+04 [ 25

- pO 4217+ 0.0
3 PL_ -36.83% 0.00

TP delay [ns]

TVC(cbch) (5. 15, 10

1 nuiz,gube+ud | 25

P DO 4244+ 0.0
F P 36,63+ 000

TP delay [ns]

TVC(cbch) (5.15, 14

Tz, 1poe+ud [ 25
= PD 4232+ 0.0
I pl -37.52+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,15,3)

A7 1 nuiLbove+ud [ 25

PO 4211+ 0.0
pl -35.93 + 0.00

TP delay [ns]

TVC(c, bch) (5,15, 7

-1 nui 458e+04 / 25
- PO 4213+ 0.0
pL -35.93+ 0.00

50 1(;0
TP delay [ns]

TVC(cbch) (5, 15 1

T naiL rope+u4 / 25
- pO 4254+ 0.0
pl -36.41+ 0.00

TP delay [ns]

TVC(cbch) (515,15

T 15ze+04 1 25
- PO 4218+ 0.0
pl -35.32 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,0,0

A~ 1 nui asse+ud | 25
e po 4149+ 0.0
p1 -34.05+ 0.00

TP delay [ns]

TVC(cbch) (6,0,4

- rnun Zzse+04 [ 25
Faue po 4169 0.0
pl -34.02 + 0.00

[ C =29.40 [ps/ch]

50 10'0
TP delay [ns]

TVC(cbch) (6 0,8

~/a.0are+0a ] 25
P pD 4176+ 00
Pl 3598+ 000

TP delay [ns]

TVC(cbch) (6,0,12

- 1oz 20/e+04 [ 25
E po 4207+ 0.0
p1 -35.33+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,01

A~ 1L ozie+ud [ 25
F.. po 4164+ 0.0
p1 -35.52+ 0.00

TP delay [ns]

TVC(c,b ch) (6 0,5

= 1 nu Oyse+ud / 25
Focse po 4180+ 0.0
pl -35.53+ 0.00

TP delay [ns]

TVC(c,b ch) (6 0,9

<1 nuiL zyae+U5 / 25
E pO 4195+ 0.0
p1 -36.57 £ 0.00

TP delay [ns]

TVC(c,b Ch) (6, O 13

~ 1 nuiL voae+ud 25
E pO 4203+ 0.0
p1 -35.69+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (6,0,2)

- C = 28.63 [ps/ch

1
50 100

TP delay [ns]

TVC(cbch) (6,0,6

X~ 1L 7obe+U4 [ 25
F. po 4170+ 0.0
[ p1 -34.93+ 0.00

Tz yle+u4 /25
F.. pO 4197+ 0.0
L pl -35.79 + 0.00

TP delay [ns]

TVC(eb,ch)=(6, 0, 10

1000

- 1 Ui, y5 re+U4 | 25
3 pO 4214 0.0
[ p1 -35.87+ 0.00

TP delay [ns]

TVC(cbch) (6,0,14

~ 1z 104e+04 / 25
E. pD 4198+ 0.0
L pl -35.16 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,0,3

A1 nuiL, 7 rye+ud | 25
Foe po 4185+ 0.0
pL -35.58+ 0.00

TP delay [ns]

TVC(c,b ch) (6 0,7

= 1nuz04re+04 / 25
Fueee po 4203+ 0.0
pl -34.77 + 0.00

[ C =28.76 [ps/ch]

50 100
TP delay [ns]

TVC(c,b ch) (6, O

T g, yzze+u4/25
E pO 4220+ 0.0
pl -35.68 + 0.00

TP delay [ns]

TVC(c,b ch) (6, O 15

L
=]
5}

- z.1ve+ud | 25
4213+ 0.0
pL -35.96+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,0)

K™ 1 soze+U4 [ 25
PO 4174+ 0.0
pl -36.92+ 0.00

TP delay [ns]

TVC(cbch) (6.1,4

-z 18ze+04 | 25
pO 4176+ 0.0
pl -34.26 + 0.00

TP delay [ns]

TVC(cbch) (6 1,8

T rnuiLysse+u4 / 25
- PD 4199+ 0.0
pl -34.63 + 0.00

TP delay [ns]

TVC(cbch) (61,12

T inuiLplye+ud / 25
= PO 4198+ 0.0
pl -35.73+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,1)

A1 nuiLsu/e+u4 [ 25
PO 4194 0.0
pl -37.44 + 0.00

TP delay [ns]

TVC(c,b ch) (6,1,5

X rnun 2.3e+04 /25
Y 4161 0.0
pL -35.29 & 0.00

TP delay [ns]

TVC(c,b ch) (6 1,9

~ 1 nug.gb3e+ud / 25
- DO 4231% 0.0
pl -34.87 + 0.00

TP delay [ns]

TVC(cbch) (61,13

T os4e+u4 [ 25
= PO 4192+ 0.0
pl -35.52 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (6,1,2)

Tonun Lo4e+u4 /25
=) PO 4210+ 0.0
I pl -37.91+ 0.00

3000

TP delay [ns]

TVC(cbch) (61,6

- uz,602e+04 | 25
- pO 4197+ 0.0
r pl -36.09 + 0.00

3000

TP delay [ns]

TVC(cbch) (6, 1 10

T, (Zoe+u4 [ 25
- DO 4244+ 0.0
I pl -35.58 + 0.00

3000

TP delay [ns]

TVC(cbch) (61,14

~ i puze+ud / 25
- PD 4190+ 0.0
I pl -35.08 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,3)

AT 1 nuiLbyze+u4 [ 25
po 4194+ 0.0
p1 -37.44 + 0.00

TP delay [ns]

TVC(c,b ch) (6 1,7

- nuiglie+u4 / 25
= PO 4190+ 0.0
pL -34.79.+ 0.00

TP delay [ns]

TVC(c,b ch) (6, l

SRR ‘Jbbe+U4/25
- pO 4254+ 0.0
pl -35.58 + 0.00

TP delay [ns]

TVC(cbch) (6,1,15

T 411e+04 [ 25
PO 4198+ 0.0
pl -35.67 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,2,0

K™ 1 nuiz.guae+ud [ 25
- po 4199+ 0.0
pl -37.46 + 0.00

TP delay [ns]

TVC(cbch) (62,4

- i Bose+04 | 25
e pO 4214+ 0.0
pl -35.91+ 0.00

e 4
% T
TP delay [ns]
TVC(c,b ch) ( 6 2,8

T rnuiLyure+u4 / 25
po 4220+ 0.0
pl -35.03+ 0.00

TP delay [ns]

TVC(cbch) (6,2, 12

T Ly rze+u4 [ 25
pO 4212+ 0.0
pl -34.92+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,2,1

A1 L Bave+U4 | 25
P e po 4210+ 0.0
pL -36.09+ 0.00

TP delay [ns]

TVC(c,b ch) (6 2,5

~ 1 nui /ole+u4 / 25
[Fomes, pO 4219+ 0.0
pL -36.19 + 0.00

TP delay [ns]

TVC(c,b ch) (6 2,9

-1 nuiy Ubye+ud / 25
- po 4263+ 0.0
pl -37.05+ 0.00

TP delay [ns]

TVC(C, bch) (6,213

Tinaizie+ud [ 25
= pO 4238+ 0.0
pl -36.64 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (6,2,2)

K71 nuiyzae+u4 /25
_E_ po 4208+ 0.0
[ p1 -35.44 + 0.00

3000

TP delay [ns]

TVC(cbch) (62,6

T 4e+04 /25
- pO 4234+ 0.0
- pl -35.79 + 0.00

TP delay [ns]

TVC(cbch) (6, 2 10

T, r38e+04 | 25
- po 4264+ 0.0
- -35.9+ 0.0

TP delay [ns]

TVC(cbch) (6,2 14

T Lose+ud /25
. pD 4225+ 0.0
L pl -35.38+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,2,3

AT L ysLe+ud [ 25
= po 4212+ 0.0
pl -36.51+ 0.00

TP delay [ns]

TVC(c,b ch) (6 2,7

S nuai /o/e+04 [ 25
- pO 4248+ 0.0
pL -36.26+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (6, 2

AL 5a1e+u4/25
- po 4276+ 0.0
pl -36.83+ 0.00

TP delay [ns]

TVC(C, bch) (6,215

Tanai g roe+ud [ 25
4244+ 0.0
-35.81+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,3,0

X~ 1L usse+u4 [ 25
Faese LY 4195+ 0.0
pl -36.73 0.00

TP delay [ns]

TVC(cbch) (63,4

- i b1ze+ud / 25
Fraese. pO 4229+ 0.0
pl 375+ 0.0

I C =26.67 [ps/c ]

50 10‘0
TP delay [ns]

TVC(cbch) (6 3,8

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,31

AT nuiLsz3e+u4 [ 25
e, PO 4201+ 0.0
pl -36.97 + 0.00

TP delay [ns]

TVC(c,b ch) (6 3,5

~1nui b4 re+04 [ 25
pO 4232+ 0.0
p1 -36.47 + 0.00

TP delay [ns]

TVC(c,b ch) (6 3,9

4000

2000

1000

4000

2000

1000

TVC(cbch) (6,3,2)

K™ 1 nui nq40e+04 / 25
e, po 4213+ 0.0
r pl -36.78 + 0.00

3000

TP delay [ns]

TVC(cbch) (63,6

- rnuibz1e+u4 / 25
- pO 4236+ 0.0
3 pl -36.18+ 0.00

3000

TP delay [ns]

TVC(cbch) (6, 3 10

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,3,3

AT 1 nuiL,340e+U4 / 25
- po 4216+ 0.0
pL -35.86+ 0.00

TP delay [ns]

TVC(c,b ch) (6 3,7

-1 nui g31e+u4 / 25
- PO 4247+ 0.0
pL -35.77+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 3

- 1nu 3oze+u4 [ 25 - 1L uage+us / 25 Tnun 3.0ve+u4 /25 Tnun 2 b/E+U4/25
4000 fame, pO 4235+ 0.0 4000 fme pO 4253+ 0.0 4000 fome, DO 4282+ 0.0 4000 fe p0 4261+ 0.0
Pl -36.05: 0.00 Pl -35.49: 0.00 L PL_ 3594+ 0.00 Pl 3574+ 0.00

3000

7 3000 - 3000 - 3000 .

2000 N 2000 1 2000 1 2000

1000 1000 4 1000 E 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (6,3,12)

T rnuiLyure+u4 / 25
po 4235+ 0.0 4000
pl -35.75+ 0.00

-1 3000

TVC(C, bch) (6,313

T inaiLgu/e+ud [ 25
4223+ 0.0 4000 F
-35.1+ 0.0 r

- 3000

TVC(cbch) (6,3 14 TVC(cbch) (63,15

T, rg1e+u4 [ 25 T rore+u4 [ 25
4225+ 0.0 4000 o, PO 4242+ 0.0
-36.2+ 0.0 Pl -36.43+0.00

- 3000

4000

3000

2000 e 2000 4 2000 — 2000

1000 - 1000 1000 1 1000

PR SRS S PSR R R |
50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6.4,0)

Ty zae+ud /25
.. pO 4197+ 0.0
p1 -36.04 + 0.00

TP delay [ns]

TVC(cbch) (64,4

- i loye+ud / 25
e, pO 4186+ 0.0
pL -34.00 + 0.00

[ C =29.34 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (6 4,8

T, (4ze+04 | 25
= po 4189+ 0.0
pl -35.58 + 0.00

TP delay [ns]

TVC(cbch) (64,12

T i s4se+u4 / 25
4222+ 0.0
-33.6 + 0.0

[C=29.76 [ps/ch] ™.

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,1

AT rnuL3rve+ud [ 25
P, po 4177+ 0.0
pl -35.51+ 0.00

TP delay [ns]

TVC(c,b ch) (6 4,5

=1 nui 2uye+u4 [ 25
e pO 4185+ 0.0
p1 -34.86+ 0.00

TP delay [ns]

TVC(c,b ch) (6 4,9

<1 nu. yyve+ud | 25
= po 4208+ 0.0
pl -35.21+ 0.00

TP delay [ns]

TVC(C, bch) (64,13

Tinuigize+ud [ 25
4220+ 0.0
-34.71+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,2)

TP delay [ns]

TVC(cbch) (64,6

A7 1nun szoe+u4 /25
o=, po 4191+ 0.0
L pl -36.15+ 0.00

3000

T 31/e+04 /25
e pO 4188+ 0.0
L pl -35.34 0.00

TP delay [ns]

TVC(cbch) (6, 4 10

T r3re+04 /25
__ DO 4241+ 0.0
L pl -34.87 + 0.00

TP delay [ns]

TVC(cbch) (64,14

T 143e+04 /25
- pD 4229+ 0.0
5 -33.74+ 0.00

- C = 29.64 [ps/ch]

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,3)

AT rnun 1.3e+u4 /25
.. po 4206+ 0.0
pl -35.76 + 0.00

TP delay [ns]

TVC(c,b ch) (6 4,7

-1 nui 24ve+04 / 25
- pO 4200+ 0.0
p1 -34.91% 0.00

TP delay [ns]

TVC(c,b ch) (6, 4

T, /4ze+u4/25
== 4226+ 0.0
-33.89+ 0.00

[ C =29.50 [ps/ch] §

1
50 100

TP delay [ns]

TVC(C, bch) (64,15

T nai zuae+ud [ 25
4225+ 0.0
-34.61+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5,0

X~ 1w zo4e+04 [ 25
[Fones, PO 4203 0.0
pl -35.76 + 0.00

TP delay [ns]

TVC(cbch) (65,4

Crnan31ze+u4 /25
Fome, pO 4198+ 0.0
pl -34.19.+ 0.00

[ C =29.25 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (6 5,8

Tanun g r3e+ud [ 25
- pO 4216+ 0.0
pl 3579 0.00

TP delay [ns]

TVC(cbch) (6,5,12

T nuiLoyse+ud / 25
- pO 4226+ 0.0
pl -35.64 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,51

AT 1 nuiL1sze+U4 [ 25
[, po 4214+ 0.0
pl -35.68 + 0.00

TP delay [ns]

TVC(c,b ch) (6 55

- Uk 1b3e+u4 / 25
- 4195+ 0.0
-34.03:+ 0.00

[ C =29.39 [ps/ch] 7

50 1(;0
TP delay [ns]

TVC(c,b ch) (6 59

T nun.zy1e+ud [ 25
- DO 4214+ 0.0
pl -35.26 + 0.00

TP delay [ns]

TVC(C, bch) (6,5,13

T nuisble+ud / 25
4248+ 0.0
-36.11 + 0.00

PR BRSNS |
50 100

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (6,52)

TP delay [ns]

TVC(cbch) (6,56

X~ s13e+04 /25
Faase. po 4225+ 0.0
I pl -36.48 + 0.00

3000

~ g UlBe+u4 / 25
- pO 4209+ 0.0
L PL_ -34.15% 0.00

- C = 29.28 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (6, 5 10

©1nug,zgye+ud / 25
- DO 4243+ 0.0
3 Pl -35.68+ 0.00

TP delay [ns]

TVC(cbch) (6,5,14

-1 1 obe+ud / 25
= PD 4221% 0.0
I pl -35.14 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5,3

AT nuiL193e+u4 / 25
- PO 4211+ 0.0
pl -34.84 + 0.00

TP delay [ns]

TVC(c,b ch) (6 57

- Blse+ud [ 25
- PO 4211£ 0.0
Pl 3509+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 5

Sz 1/e+u4/25
- pO 4248+ 0.0
pl -35.56 + 0.00

TP delay [ns]

TVC(C, bch) (6,5,15

T b3ze+u4 [ 25
- pO 4236+ 0.0
pl -36.08 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,6,0)

.bave+u4 | 25
4198+ 0.0
-35.41+ 0.00

FC B
| 1 i
50 100
TP delay [ns]
TVC(cbch) (6.6,4)
- 1L 4upe+ud / 25
o pO 4182+ 0.0
pl -35.02+ 0.00
FC B
| 1 "
50 100
TP delay [ns]
TVC(cbch) (6,6,8)
T nu131e+u4 / 25
= PD 4217+ 0.0
pl -35.65+ 0.00

TP delay [ns]

TVC(cbch) (6,6, 12

A1,

po
p1

r1ve+u4 /25
4235+ 0.0
-35.79+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,6,1)

e po

p1

AT 1 nuiLos/e+u4 [ 25
4207+ 0.0
-35.83+ 0.00

TP delay [ns]

TVC(c,b ch) (6 6,5

-1 nui bzze+u4 [ 25
4208+ 0.0
-36.3 % 0.0

1
50 100

TP delay [ns]

TVC(c,b ch) (6,6,9

FSRALTES

= po

12e+U5/25
4249+ 0.0
-34.91+ 0.00

TP delay [ns]

TVC(C, bch) (6,6,13

T nuiLbyse+ud / 25
4227+ 0.0
-35.62+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (6,6,2)

A1,

e, po
pl

rove+U4 /25
4203+ 0.0
-35.46 + 0.00

TP delay [ns]

TVC(cbch) (66,6

pD

p1

T 41 /e+04 /25
4195+ 0.0
-35.47 + 0.00

TP delay [ns]

TVC(cbch) (6, 6 10

1000

- o

T nug.uYe+u4 [ 25
4260+ 0.0
-35.98 + 0.00

pl

TP delay [ns]

TVC(cbch) (6,614

T rnuiLp3le+ud / 25
4224+ 0.0
-35.48 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,6,3)

AT 1 nuiLrave+ud [ 25

po
pL

4216+ 0.0
-35.42+ 0.00

[ C =28.24 [ps/ch

L
50

100

TP delay [ns]

TVC(c,b ch) (6 6,7

Fe=. pO
pl

- nun 1 bge+ud [ 25
4208+ 0.0
-35.91+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (6, 6

= pO

AR bsze+u4/25
4257+ 0.0
-35.2+ 0.0

1
100

TP delay [ns]

TVC(C, bch) (6,6, 15

T nui o3se+ud [ 25
4238+ 0.0
-36.15+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,7,0

X~ 1 syoe+U4 [ 25

Froesa po 4187+ 0.0
pl -35.46 + 0.00

TP delay [ns]

TVC(cbch) (67,4

T L6 r3e+u4 [ 25
E pO 4199+ 0.0
p1 -34.74 % 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (6 7,8

~1nuig.0use+u4 / 25
- po 4208+ 0.0
pl -35.96 + 0.00

TP delay [ns]

TVC(cbch) (6,7,12

T rze+04 /25
= po 4255+ 0.0
pl -36.42+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,7,1

x- 1L S14e+U4 | 25
s po 4211+ 0.0
pL -36.67 + 0.00

TP delay [ns]

TVC(c,b ch) (6 7,5

=1 nui 48be+04 / 25
[Fomes, pO 4211+ 0.0
pL -35.32.+ 0.00

TP delay [ns]

TVC(c,b ch) (6 7,9

~ 1 nuiL Ubse+us / 25
= po 4227+ 0.0
p1 -36.43 £ 0.00

TP delay [ns]

TVC(C, bch) (67,13

T 1 naiL guse+ud / 25
= pO 4249+ 0.0
pl -37.19+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000

2000

TVC(cbch) (6,7,2)

e, po

A~ 1 nui ooze+V4 /25
4216+ 0.0

TP delay [ns]

TVC(cbch) (67,6

p1 -36.24 + 0.00

T L5 r4e+04 [ 25
- pO 4218+ 0.0
[ pl -35.03+ 0.00

TP delay [ns]

TVC(cbch) (6, 7 10

1000

0

1 nuzby4e+u4 [ 25
. po 4252+ 0.0
L pl -37.1+ 0.0

TP delay [ns]

TVC(cbch) (67,14

1000

T r3re+u4 /25
- pD 4253+ 0.0
L pl -36.51+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,7,3

AT 1L buze+ud [ 25
- po 4217+ 0.0
pl -35.53+ 0.00

TP delay [ns]

TVC(c,b ch) (6 7,7

-1 nui bgze+u4 / 25
- pO 4218+ 0.0
p1 -34.53+ 0.00

[ C =28.96 [ps/ch]

50 1(;0
TP delay [ns]

TVC(c,b ch) (6, 7

T ‘Jb::e+l]4/25
= pO 4261+ 0.0
p1 -37.49 + 0.00

TP delay [ns]

TVC(C, bch) (67,15

T inan 1 pve+ud [ 25
= pO 4262+ 0.0
p1 -36.72+ 0.00

TP delay [ns]



TVC(cbch)(680) TVC(cbch)(681) TVC(cbch)(682) TVC(cbch)(683

K™ 1nug44e+04 /25 T zole+ud /25 A7 1 nuiz.4uoe+04 / 25 AT 1 nuzzsze+ud | 25
4000 po 4183 0.0 4000F po 4181+ 0.0 4000 Faese. po 4205+ 0.0 4000, po 4208+ 0.0
pl -34.92+ 0.00 pl -34.77 + 0.00 - pl -35.05+ 0.00 pl -35.76 + 0.00

3000 E 3000 - 3000 - 3000

2000 4 2000 B 2000~ B 2000

- 1000

1000 B 1000 — 1000 C =28.53 [ps/ch 7]
0 1 . 1 1 - 1 L o
50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch) (6.8.4) TVC(cbch) (6.85) TVC(cbch) (6.86) TVC(cbch) (6.8,7)
T z3/e+u4 [ 25 =1 boge+u4 [ 25 - nuiLzyze+u4 [ 25 -1 nu 1b4e+u4 / 25
4000 [, pO 4269+ 0.0 4000, pO 4252 0.0 4000 fm, pO 4263+ 0.0 4000 o=, pO 4283+ 0.0
pL -38.91+ 0.00 pL -37.72+ 0.00 L pl -38.21+ 0.00 pL -37.95+ 0.00
3000 E 3000 E a000f- 3 3000 |- -
2000 E 2000 E 2000 ] 2000 [ E
1000 E 1000 E 1000 C=26.17 [pS/C ] 000 E
0 EY 00 0 of EY S 0 5 T -
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b ch) (6,8,8) TVC(c,b ch) (6.8,9) TVC(c,b, ch) (6,8,10) TVC(c,b ch) (6,8,11)
T nuiLzzae+04 [ 25 T r19e+u4 [ 25 © 1z, zoge+u4 | 25 T i 415e+04 / 25
4000 [, pO 4213+ 0.0 4000 [, pO 4222% 0.0 4000 [, pO 4254+ 0.0 4000 [, pO 4260+ 0.0
pl -35.07 + 0.00 pL -34.59 + 0.00 3 pl -35.28 + 0.00 pL -35.04 + 0.00

3000 1 3000 - 3000 - 3000

2000 N 2000 - 2000 -1 2000

1000 1000 . 1000 B 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(681 ) TVC(cbch)(6813) TVC(cbch)(681 ) TVC(cbch)(6815)
T i z43e+04 / 25 T L Zoe+u4 [ 25 Tz rye+ud [ 25 T zyge+u4 [ 25
4000 pO 4222+ 0.0 4000 pO 4235+ 0.0 4000 PD 4222+ 0.0 4000 B pO 4231% 0.0
pl -35.83+ 0.00 pl -36.15+ 0.00 r pl -34.72+ 0.00 -35.15+ 0.00

3000 B 3000 — 3000 - 3000 E

2000 - 2000 2000 ] 2000

1000 -1 1000

1000 - 1000 [~

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(c,b Ch) (6, 9 0) TVC(c,b Ch) (6,9,1) TVC(c,b Ch) (6,9,2) TVC(c,b Ch) (6,9,3)
i Louerud 125 X~ 1 Zaze+0a ] 25 K~ 1 L Sove+Ud 1 25 X~ 1 L61/e+04 ] 25
ao00pm PO 42141 0.0 4000 ., po 4219+ 0.0 4000 fm, PO 4237+ 0.0 4000 fo, PO 42412 0.0
Pl -36.63: 0.00 Pl -35.85: 0.00 L PL_ -37.69+ 0.00 Pl 37.17%0.00

3000

E 3000 - 3000~ - 3000

2000 2000 2000 =1 2000

1000 1000 - - 1000

1000

50 0% 50 T00 0
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(ebeh)=(6,9, 4) TVC(eb.eh)=(6,9,5) TVC(ebeh)=(6,9,6) TVC(eb.eh)=(6,9, 7)
- i b18e+u4 / 25 -1 nui4/9e+04 [ 25 -1 1uiL.444e+04 | 25 =1 Ui bube+u4 / 25
4000 fe, pO 4237+ 0.0 4000 pO 4250+ 0.0 4000 [, pO 4250+ 0.0 4000 o=, pO 4275+ 0.0
pl 3523+ 0.00 pl_ -35.86+ 0.00 [ Pl -35.79 0.00 pl -36.81+ 0.00
- [ ]
3000 E 3000 - 3000 . 3000 ]
2000 - - 2000 - 2000 ‘ ‘ 2000 ]
1000f- C 4 1000 b wor C = 27.94 [ps/ch ] wor C ]
1 1 - 1 il L 1 1 - o 1 1 -
50 00 50 00 50 00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(eheh)=(6,9,8) TVC(ebeh)=(6,9,9) TVC(ebeh)=(6, 9, 10) TVC(eb,o=(6,9, 11)
T nu 31oe+u4 / 25 TG, g re+u4 1 25 © 1 nuzoyge+ud / 25 ~ i gyse+u4 / 25
4000 e pO 42215 00 4000 fen pO 4233+ 0.0 4000 [, DO 4260+ 0.0 4000 foe, p0 4272+ 00
pL -35.11+ 0.00 Pl -35.95: 0.00 3 pl -36.21% 0.00 pl -36.31+ 0.00

3000 -1 3000 -1 3000 -1 3000 1

2000 -1 2000 - 2000 - 2000

1000 ] 1000 - 1000 — 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(691 ) TVC(cbch)(6913) TVC(Cbch)(691 ) TVC(cbch)(6915)
TinuiLSrye+ud / 25 T 343e+04 [ 25 T i a84e+04 [ 25 T sybe+u4 / 25
4000 f, pO 42384 0.0 4000 4235£ 00 4000 fe, PD 42495 00 4000 fam, pO 4258+ 0.0
pl -34.14+ 0.00 -35.31+ 0.00 r pl -36.67 + 0.00 pl -36.62 + 0.00
3000~ - 3000 — 3000 — 3000 E
2000k ] 2000 4 2000 — 2000 e

1000 - 1000 L —- 1000 -1
woor C =29.29 [ps/chl™, 7] 2 [ ]
* 5(‘) —t— 1(?:0 * — — g‘ﬁ — — 10‘0 * O 0

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (6, 10 0)

T rnLzzoe+u4 [ 25
- pO 4205+ 0.0
pl -35.72+ 0.00

TP delay [ns]

TVC(cbch) (6.10,4

- 1L bu3e+u4 / 25
o, pO 4214+ 0.0
pl -36.83+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (6, 10 8

i bope+u4 / 25
= po 4219+ 0.0
pl -36.99 + 0.00

TP delay [ns]

TVC(cbch) (6.10,12)

T rnuiLbr4e+u4 [ 25
= po 4228+ 0.0
pl -35.43+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(chh) (6,10,1)

AT rnunLszse+ud [ 25
- po 4207+ 0.0
pl -36.19 + 0.00

TP delay [ns]

TVC(c, bch) (6,105

-1 nui48/e+04 [ 25
e pO 4218+ 0.0
-36.3+ 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (6, 10

T inaipl/e+ud [ 25
= po 4222+ 0.0
pl -35.99 + 0.00

TP delay [ns]

TVC(cbch) (610,13

T nuipoze+ud [ 25
pO 4229+ 0.0
pl -35.46 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (6,10,2)

A7 1 nui sooe+u4 / 25
Freee, po 4219+ 0.0
o pl -36.37+ 0.00

3000

TP delay [ns]

TVC(cbch) (6.10,6

1000

=1 nuiL bbge+ud / 25
- pO 4227+ 0.0
[ 369+ 0.0

TP delay [ns]

TVC(cbch) (6, 10 10

1000

0

T rnuzbole+ud [ 25
- po 4249+ 0.0
- pl -37.02+ 0.00

TP delay [ns]

TVC(cbch) (6.10,14

~ 1L bEse+U4 / 25
- pD 4230+ 0.0
L pl -35.45+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (6,10,3)

AT 1L ssse+ud [ 25
= po 4213+ 0.0
pl -37.1+ 0.0

TP delay [ns]

TVC(c, bch) (6,10, 7

Cnun15/e+04 /25
- pO 4231% 0.0
p1 -36.44 + 0.00

50 1(;0
TP delay [ns]

TVC(cbch) (6, 10 1

~ 1 nui g4ze+04 [ 25
- po 4262+ 0.0
p1 -37.18+ 0.00

TP delay [ns]

TVC(cbch) (6,10,15

T nui povbe+ud [ 25
e pO 4237+ 0.0
p1 -35.7+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (6,11,0)

o po

pl

A7 1 nui4uye+ud / 25
4223+ 0.0
-35.3+ 0.0

TP delay [ns]

TVC(cbch) (6,11,4

ur

" Y646 / 25
4181+ 0.0
pl -36.24 + 0.00

TVC(Cbch) (6,11,1)

AT 1 nuLozse+ud [ 25

4000 =

3000 |-

2000

po
pL

4221+ 0.0
-34.53+ 0.00

w0l C = 28.96 [ps/ch]

L
50

1
100

TP delay [ns]

TVC(cbch) (6115

4000

3000

2000

1000

~nuiLuyse+u4d [ 25
4197+ 0.0
-37.26 + 0.00

TP delay [ns]

TVC(cbch) (6, 11 8

TP delay [ns]

TVC(eh.ch)=(6, 11, 9

T z0Ye+u4 /25
- po 4229+ 0.0
pl -35.92+ 0.00

TP delay [ns]

TVC(cbch) (6,11, 12

X~ 1 s80e+04 / 25
- po 4251+ 0.0
pl -34.98 + 0.00

TP delay [ns]

4000

3000

2000

Tinunn.y4e+u4 | 25
4217+ 0.0
-34.51+ 0.00

100 C = 28.98 [ps/ch]

50

1
100

TP delay [ns]

TVC(cbch) (611,13

4000 e,

3000

2000 [~

pO
p1

-1 nuiLquse+ud 25
4251+ 0.0
-34.76 + 0.00

oo C = 28.77 [ps/ch]

50

il
100

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (6,11, 2)

[oase po

A7 1 nui4yae+04 /25
4238+ 0.0
p1 -35.84+ 0.00

TP delay

TVC(cbch) (6,116

pO
p1

[ns]

S rnun119e+u4 [ 25
4205+ 0.0
-36.99 + 0.00

TP delay [ns]

TVC(c,b, ch) (6,11, 10

1000

- o

X~ 1 nuig, 1b4e+04 [ 25
4249+ 0.0
pl -35.45+ 0.00

TP delay

TVC(cbch) (6,11, 14

[ns]

X~ 1w sp4e+04 [ 25
- po 4266+ 0.0
L pl -35.79+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,11,3)

X

po
pL

L, rose+u4 [ 25
4245+ 0.0
-36.78 + 0.00

TP delay [ns]

TVC(cbch) (6,11,7

pO
pl

-1 nun 3bze+u4 / 25
4212+ 0.0
-35.98+ 0.00

1
100

TP delay [ns]

TVC(e.beh)=(6, 11, 11

T nuiL gy /e+u4 [ 25
- po 4252+ 0.0
pl -35.68 + 0.00

TP delay [ns]

TVC(cbch) (611,15

T nui syve+ud [ 25
4265+ 0.0
-35.47 + 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (6, 12 0)

© L sube+u4 / 25
Frcea pO 4181+ 0.0
p1 -34.53+ 0.00

TP delay [ns]

TVC(cbch) (6.12,4

T 38/e+04 [ 25
Fraese. pO 4232+ 0.0
p1 -37.72+ 0.00

50 100
TP delay [ns]

TVC(cbch) (6, 12 8

T i gsze+04 [ 25
= po 4196+ 0.0
pl -35.18 + 0.00

TP delay [ns]

TVC(cbch) (6,12, 12

T rnuiL4zoe+u4 / 25
e po 4226+ 0.0
pl -34.78 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(chh) (6, 12 1)

[ C =29.68 [ps/ch]

S yys0/ 25
e pO 4192+ 0.0
pl -33.69+ 0.00

L

1
50 100

TP delay [ns]

TVC(cbch) (6,125

“nui4/ze+04 [ 25
[, DU 4226+ 0.0
pl -36.93 % 0.00

TP delay [ns]

TVC(ebeh)=(6, 12,9

T nuw, r8ae+04 / 25
= po 4223+ 0.0
pl -35.04 + 0.00

TP delay [ns]

TVC(cbch) (612,13

T nui ssBe+ud / 25
pO 4222+ 0.0
pl -34.92+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

TVC(CbCh) (6,12,2)

A7 1nuizzye+V4 /25
_l' po 4189+ 0.0
- pl -33.71+ 0.00

- C = 20.67 [ps/ch™. 1

1
50 100

TP delay [ns]

TVC(cbch) (6.12,6

-1 nuiL401e+04 / 25
F po 4220+ 0.0
[ pl -36.91+ 0.00

TP delay [ns]

TVC(cbch) (6, 12 10

©1nuizusde+ud | 25
- po 4241+ 0.0
- pl -34.88 + 0.00

TP delay [ns]

TVC(cbch) (6,12, 14

T sz3e+u4 [ 25
__ pD 4232+ 0.0
L pl -34.38+ 0.00

- C = 29.09 [ps/ch]

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (6,12,3)

AT 1L zyse+ud [ 25
po 4215+ 0.0
pl -35.63+ 0.00

TP delay [ns]

TVC(c, bch) (6,127

- nui bb/e+u4 [ 25
E pO 4258+ 0.0
pL -38.31% 0.00

50 100
TP delay [ns]

TVC(eh.eh)=(6, 12, 11

-1 nui ogge+u4 / 25
- po 4262+ 0.0
pl -36.08 + 0.00

TP delay [ns]

TVC(cbch) (6,12,15

T nui ss1e+ud [ 25
= po 4210+ 0.0
-34.38 + 0.00

[ C =29.08 [ps/ch]

PR PR S S |
50 100

TP delay [ns]



TVC(cbch) (6,13,0) TVC(cbch) (6,13,1) TVC(cbch) (6,13,2) TVC(cbch) (6,13,3)
“rnuigr13e+u4 [ 25 &A™ 1L sloe+ud [ 25 X rnu oywd /25 &A™ nuaiLyive+ud [ 25
4000 PO 4198+ 0.0 4000 fm po 4208+ 0.0 4000 po 4206+ 0.0 4000, po 4212+ 0.0
pl -36.87 + 0.00 pl -36.87 + 0.00 F pl -36.4+ 0.0 pl -36.45+ 0.00

3000

-1 3000 = 3000 = 3000 N

2000 - 2000 -1 2000 =1 2000

1000 N 1000 I 1000 = 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (6,134 TVC(c, bch) (6,135 TVC(cbch) (6.13,6 TVC(c, bch) (6,137

4000 E “ g bl?leﬂjd 125 4000 T b2/8+u4/25 4000 E “ g bz)beﬂjd 125 4000 T nar b?4e+l)4/25
[ouse, pO 4160 0.0 Flonse pO 4163+ 0.0 e, pO 4167+ 0.0 F pO 4192+ 0.0
pl -35.58 + 0.00 pl -36.01+ 0.00 r pl -35.53+ 0.00 pl -35.78 + 0.00
3000 - 1 3000 - -1 3000 -— —- 3000 -
2000~ -1 2000 -1 2000 -— —- 2000 1
woor- C = 28.11 [ps/ch 7 wor C = 27.77 [ps/ch ] w0 G = 28.14 [ps/ch . 1000 .
1 ! 1 - 1 - 1 1 -
50 100 50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(eb,oh)=(6, 13,8 ) TVC(eb,oh)=(6, 13,9) TVC(eb,ch)=(6, 13, 10) TVC(e.beh)=(6, 13, 11)
T nuizpyre+ud | 25 T naiy z45e+04 [ 25 T 1pe+ud /25 ~ 1 nuiL ozge+u4 / 25

4000, po 4197:‘ 4000 pO 4231«»:‘ 4000 [, DO 4215:‘ 4000 o, p0 4233?‘
pl -34.86 + 0.00 pl -35.36 + 0.00 F pl -34.03+ 0.00 pl -36.25+ 0.00

] 3000

- 3000 T

3000 - 3000 |~

4 2000 2000

2000 2000~

1000
1000 1000

wol ¢ = 29.39 [ps/ch]

1
0 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(c,b ch) (6.13,12) TVC(c,b ch) (6.13,13) TVC(c,b ch) (6.13,14) TVC(c,b ch) (6,13,15)
T 14e+u4 /25 Tonan L o3e+ud [ 25 ~1nuiLguze+u4 [ 25 T inui rp3e+ud [ 25
4000, pO 4208+ 0.0 000k, pO 4180+ 0.0 4000 R, 4199+ 0.0 4000 PO 4199+ 0.0
pl -35.22+ 0.00 pl -34.32+ 0.00 F -34.9+ 0.0 pl -35.34+ 0.00

3000

-1 3000 - 3000 - 3000 .

2000 T 2000 |- - 2000 ] 2000

oo ] 0l C = 29.14 [ps/ch] ] Looop ] 1000 ]
R R . R .
50 100 50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (6, 14 0)

©rnuiLg4uze+ud [ 25
4198+ 0.0
-35.91+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (6,144

- i 3z9e+04 / 25
- pO 4201% 0.0
p1 -35.41% 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (6, 14 8

[ C =29.48 [ps/ch]

Tz 3z0e+04 | 25
= po 4180+ 0.0
pl -33.92+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (6,14, 12

T rnuiLzave+u4 | 25
== po 4208+ 0.0
pl -35.29+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (6,14,1)

A7 1 nuiLzoye+ud [ 25
P, po 4199+ 0.0
pl -35.59 + 0.00

TP delay [ns]

TVC(c, bch) (6,145

-1 nui 4bze+04 [ 25
- pO 4207+ 0.0
pL -36.58+ 0.00

TP delay [ns]

TVC(ebeh)=(6, 14,9

[ C =29.28 [ps/ch]

~ 1 nug gYe+u4 25
= po 4202+ 0.0
p1 -34.15+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (614,13

- 1 ale+ud | 25
= pO 4192+ 0.0
pl -35.95+ 0.00

TP delay [ns]

TVC(CbCh) (6,14,2)

4000

2000

1000

X~ siie+ud [ 25
[, po 4202+ 0.0
L pl -35.85+ 0.00

3000

TP delay [ns]

TVC(cbch) (6.14,6

4000

3000

2000

1000

T b 3e+u4 [ 25
- pO 4219+ 0.0
[ pl -36.75+ 0.00

TP delay [ns]

TVC(cbch) (6, 14 10

4000

3000

2000

1000

T rz7e+u4 [ 25
= po 4209+ 0.0
- pl -34.1+ 0.0

- C = 29.33 [ps/ch]

0

1
50 100

TP delay [ns]

TVC(cbch) (6. 14,14

4000

2000

1000

~ 1L suve+ud / 25
= pD 4213+ 0.0
L -36.41+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (6,14,3)

AT rnuaiLsize+ud [ 25
- po 4221+ 0.0
pl -35.58 + 0.00

TP delay [ns]

TVC(c, bch) (6,14, 7

=1 nui bbae+u4 [ 25
4238+ 0.0
-37+ 0.0

50 1(;0
TP delay [ns]

TVC(ehch)=(6, 14, 11

<1 nui sbve+ud / 25
= po 4216+ 0.0
p1 -34.85+ 0.00

TP delay [ns]

TVC(cbch) (614,15

T nai z4ye+u4 / 25
- pO 4202+ 0.0
p1 -35.73+ 0.00

TP delay [ns]



TVC(CbCh) (6, 15 0)

4000

3000

2000

1000

T rnuiLsule+u4 /25
- pO 4147+ 0.0
p1 -36.1+ 0.0

TP delay [ns]

TVC(cbch) (6,154

4000

3000

2000

1000

- 1L UBse+V4 | 25
o pO 4169+ 0.0
pl -34.49+ 0.00

50 10‘0
TP delay [ns]

TVC(c,b,ch)=(6, 15, 8

4000

3000

2000

1000

b, ,15,8)
T X7 Y305 /25
. Po 4209+ 0.0
pl -33.99+ 0.00

[ C =29.42 [ps/ch]

0

1
50 100

TP delay [ns]

TVC(cbch) (6,15, 12

4000

3000

2000

1000

~rnuiL4uve+ud / 25
b po 4284+ 0.0
pl -37.24+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (6,15,1)

AT 1 nunLzsoe+ud [ 25
e po 4149+ 0.0
pl -35.08 + 0.00

TP delay [ns]

TVC(cbch) (6,155

“ i 1/3e+04 / 25
P pO 4182+ 0.0
p1 -34.04+ 0.00

[ C =29.38 [ps/ch]

50 1(;0
TP delay [ns]

TVC(c,b ch) (6, 15

~ 1 nuiL g34e+04 / 25
b po 4227+ 0.0
p1 -34.54 + 0.00

[ C =28.95 [ps/ch] ]

1
50 100

TP delay [ns]

TVC(cbch) (6.15,13

- 1 aZe+ud | 25
e, po 4278+ 0.0
pl -36.88+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

TVC(CbCh) (6,15,2)

A7 nun s49e+04 /25
e po 4155+ 0.0
o pl -35.29+ 0.00

3000

TP delay [ns]

TVC(cbch) (6.15,6

©1nuiL145e+04 / 25
Foe pO 4192+ 00
[ Pl 34.95: 000

- C = 28.61 [ps/ch

50 10‘0
TP delay [ns]

TVC(cbch) (6, 15 10

T i zoze+u4 [ 25
_- DO 4250+ 0.0
5 pl -34.71+ 0.00

- C = 28.81 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (6. 15, 14

T rnuiL4z3e+u4 [ 25
e pD 4276+ 0.0
L -36.31+ 0.00

PR IR SRR |
50 100

TP delay [ns]

TVC(Cbch) (6,15,3)

4000 po

AT rnuiLbrse+ud [ 25
4173+ 0.0
pl -36.08 + 0.00

3000

2000

1000

TP delay

TVC(c, bch) (6,15, 7

2000 pO

pl

[ns]

- nui 129e+04 / 25
4198+ 0.0
-33.85+ 0.00

3000

2000 -

10 C = 29.54 [ps/ch]

50 100
TP delay

TVC(cbch) (6, 15 1

4000 fum po

pl

[ns]

-1 nuiL usoe+u4 / 25
4241+ 0.0
-34.08 + 0.00

3000 -

2000 =

1o00F C = 29.34 [ps/ch]

1
50 100

TP delay

TVC(cbch) (6,15,15

4000 pO

[ns]

-1 nuiL vboe+ud / 25
4284+ 0.0
p1 -36.84 + 0.00

3000

2000

1000

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,0,0

A7 1 nuiouye+ud / 25
- po 4192+ 0.0
pl -36.58 + 0.00

TP delay [ns]

TVC(cbch) (70,4

T rnuan 1 5ye+04 /25
4174+ 0.0
-34.4+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (7 0,8

T z10e+04 /25
= PD 4206+ 0.0
pl -35.62+ 0.00

TP delay [ns]

TVC(cbch) (7,0,12

T 1rze+04 /25
= po 4236+ 0.0
pl -37.77 + 0.00

50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,0,1

AT rnunruLe+ud [ 25
P s po 4193+ 0.0
pl -36.55+ 0.00

TP delay [ns]

TVC(c,b ch) (7 0,5

-1 nui /84e+04 [ 25
E pO 4190+ 0.0
pL -35.13+ 0.00

TP delay [ns]

TVC(c,b ch) (7 0,9

-1 nuw,pbye+ud / 25
= po 4210+ 0.0
pl -36.31+ 0.00

TP delay [ns]

TVC(C, bch) (7,0,13

T 1 nuis 10ve+ud / 25
= pO 4230+ 0.0
pl -37.24+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (7,0,2)

TP delay [ns]

TVC(cbch) (7,0,6

A7 1 nui rooe+U4 /25
= po 4203+ 0.0
[ p1 -36.47 + 0.00

3000

T i 713e+04 [ 25
F po 4183+ 0.0
[ pl -34.55 + 0.00

FC = 28.95 [psichPy, -

50 10‘0
TP delay [ns]

TVC(cbch) (7, 0 10

1000

0

T a1 rge+u4 [ 25
- po 4247+ 0.0
L pl -36.71+ 0.00

TP delay [ns]

TVC(cbch) (7,0,14

T g0e+u4 /25
3 pD 4236+ 0.0
- pl -38.17 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,0,3

AT 1 nuiLyovse+ud [ 25
P s po 4195+ 0.0
pl -36.17 + 0.00

TP delay [ns]

TVC(c,b ch) (7 0,7

S nuiL g/ e+u4 /25
- pO 4208+ 0.0
p1 -34.99+ 0.00

TP delay [ns]

TVC(c,b ch) (7, O

S nug; zwe+u4/25
- p0 4244+ 0.0
pl -36.06 + 0.00

TP delay [ns]

TVC(C, bch) (7,0,15

71 nuis 19ye+ud / 25
= pO 4244+ 0.0
p1 -37.38+ 0.00

TP delay [ns]



4000

3000

2000

1000

TVC(cbch) (7,1,0)

P po

pl

X~ 1 nsre+U4 /25
4174+ 0.0
-35.71+ 0.00

TP delay [ns]

TVC(cbch) (7.1,4

-1 nuiL330e+04 / 25
4220+ 0.0
-36.05+ 0.00

4000 pO
pL
3000 [~ ]
2000 - ]
1000 C 7
1 1 "
50 100
TP delay [ns]
TVC(cbch) (7,1,8)
© i, ryze+u4 / 25
4000 pD 42251+ 0.0
p1 -35.52+ 0.00
3000~ ]
2000 |- ]
o0 C = 28.15 [ps/ch ]
1 -
b 50 100
TP delay [ns]
TVC(cbch) (7.1,12)
TinuiLyize+ud / 25
4000 po 4222+ 0.0
pl -35.25+ 0.00

3000

2000

1000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,1,1)

F.... pO

p1

“rnun 1are+u4 /25
4188+ 0.0
-36.55+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (7 1,5

-1 nui4/9e+04 [ 25
4215+ 0.0
-35.5 % 0.0

1
100

TP delay [ns]

TVCEebeh)=(7, 1,9

e, pO

T inuz y1se+ud / 25
4235+ 0.0
-34.61+ 0.00

[ C =28.89 [ps/ch]

50

1
100

TP delay [ns]

TVC(c,b Ch) (7, l 13

-1 nuiL yuse+ud 25
4219+ 0.0
-35.48 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (7,1,2)

[, PO

X~ 1L brse+ud [ 25
4190+ 0.0
p1 -36.67 £ 0.00

TP delay

TVC(cbch) (7,1,6

. b
p1

[ns]

1 nuiLbyge+u4 / 25
4229+ 0.0
-35.76 + 0.00

TP delay

TVC(ebeh)=(7, 1, 10

[ns]

T 524e+04/25
4000 e, pO 4247+ 0.0
[ pL -33.37+ 0.00
3000} 7]
2000} .
10%r C =29.96 [ps/ch] ™. 1
- . 1 -
¢ 50 100
TP delay [ns]

4000

3000
2000

1000

TVC(cbch) (7.1,14

- 1 i y8ae+U4 [ 25
4224+ 0.0
pl -35.87 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.1,3)

Foee, PO

A~ 1nuiL, 723e+u4 [ 25
4220+ 0.0
-36.31+ 0.00

pl

1
100

TP delay [ns]

TVC(c,b ch) (7 1,7

- pO

- nun 38/e+04 / 25
4236+ 0.0
-36+ 0.0

1
100

TP delay [ns]

TVC(c,b ch) (7,1,

- pO

1)
Tnuzy/e+u4 [ 25
4260+ 0.0
-34.75+ 0.00

I C=28.78 [ps/ch]

50

1
100

TP delay [ns]

TVC(c,b ch) (7, 1 15

- 1 sove+ud [ 25
4226+ 0.0
-35.32+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (7,2,0)

K™ 1nui zole+u4 /25
po 4204+ 0.0
pl -36.27 + 0.00

TP delay [ns]

TVC(cbch) (72,4

- 1L goye+ud / 25
o, pO 4184+ 0.0
p1 -35.34+ 0.00

e 4
% o
TP delay [ns]
TVC(c,b ch) (7, 2 8

©1nuizuoze+u4 | 25
po 4231+ 0.0
pl -37.55+ 0.00

TP delay [ns]

TVC(cbch) (7,212

T L ps4e+u4 [ 25
pO 4213+ 0.0
pl -36.12+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,21

AT rnuLsive+ud [ 25
Foase po 4188+ 0.0
pl -36.22 + 0.00

TP delay [ns]

TVC(c,b ch) (7 2,5

=1 Uz Us4e+u4 [ 25
o pO 4204+ 0.0
pL -36.17+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 2

T inuis fb/e+ud [ 25
= po 4236+ 0.0
pl -35.55+ 0.00

TP delay [ns]

TVC(C, bch) (7.2,13

-1 nuiL oyae+ud / 25
- pO 4210+ 0.0
pl -35.88+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000
3000
2000

1000

TVC(cbch) (7,2,2)

AT 1nun ssse+u4 /25
o po 4197+ 0.0
L pl -36.62+ 0.00

3000

TP delay [ns]

TVC(cbch) (7,2,6

T rnuiL431e+04 / 25
e pO 4187+ 0.0
[ pl -34.59+ 0.00

3000

TP delay [ns]

TVC(ebeh)=(7,2, 10

1000

0

T z1ze+04 [ 25
= po 4253+ 0.0
- pl -36.87 + 0.00

3000

TP delay [ns]

TVC(cbch) (7,214

© 1L gsse+U4 / 25
pD 4223+ 0.0
-35.57 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,2,3

AT rnuiLssse+ud [ 25
e, po 4211+ 0.0
pl -36.14+ 0.00

TP delay [ns]

TVC(c,b ch) (7 2,7

S rnan 21ze+04 1 25
- pO 4209+ 0.0
pL -36.05+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 2

T U/e+u4/25
4258+ 0.0
-37.7+ 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (7.2,15

TinuiLysie+ud [ 25
- po 4228+ 0.0
p1 -35.68 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,3,0

A7 1nuiLpsie+ud /25
P po 4184+ 0.0
pl -36.05+ 0.00

TP delay [ns]

TVC(cbch) (7.3,4

- i 528e+04 [ 25
o, pO 4176+ 0.0
pl -35.65+ 0.00

TP delay [ns]

TVC(cbch) (7 3,8

1z 1ooe+04 / 25
po 4192+ 0.0
pl -36.23 + 0.00

TP delay [ns]

TVC(cbch) (7,312

T ro3e+u4 / 25
pO 4213+ 0.0
pl -36.49 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.3,1

X 1Ll 1e+ud | 25
e po 4193+ 0.0
pL -37.29+ 0.00

TP delay [ns]

TVC(c,b ch) (7 3,5

-1 nui bzbe+u4 [ 25
o, DU 4186+ 0.0
pl -36.38 + 0.00

TP delay [ns]

TVC(c,b ch) (7 3,9

-1 nuis obse+ud / 25
== po 4213+ 0.0
pl -36.82 + 0.00

TP delay [ns]

TVC(C, bch) (7.3,13

Tinai/1ge+ud [ 25
— 4204+ 0.0
-36.31+ 0.00

PR BRSNS |
50 100

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (7,3,2)

A~ 1nuiLoize+V4 /25
_=_ po 4199+ 0.0
o pl -36.35+ 0.00

3000

TP delay [ns]

TVC(cbch) (73,6

1000

- 733e+04 / 25
F pO 4191+ 0.0
L pl -35.93+ 0.00

TP delay [ns]

TVC(cbch) (7, 3 10

1000

0

Tz pge+u4 | 25
o=, po 4230+ 0.0
5 pl -37.14 + 0.00

TP delay [ns]

TVC(cbch) (7.3 14

T, 45e+04 / 25
= pD 4209+ 0.0
L p1 -36.1+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.3,3

AT 1L rzoe+u4 [ 25
P e po 4200+ 0.0
pl -36.53+ 0.00

TP delay [ns]

TVC(c,b ch) (7 3,7

- nu /3ze+04 [ 25
- pO 4195+ 0.0
p1 -35.43+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 3

T, 155e+u4/25
= po 4238+ 0.0
pl -36.79 + 0.00

TP delay [ns]

TVC(C, bch) (7.3,15

T nai ruse+u4 / 25
po 4220+ 0.0
p1 -35.97 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,4,0)

A1,

rze+U4 1 25
4186+ 0.0
-35.98+ 0.00

TP delay [ns]

TVC(cbch) (7.4,4

= o,

3obve+u4 | 25
4210+ 0.0
-35.8+ 0.0

1
50 100

TP delay [ns]

TVC(eb,ch)=(7, 4,8

- g,
pO
p1

1/1e+U4/25
4211+ 0.0
-34.96 + 0.00

1
100

TP delay [ns]

TVC(cbch) (7,4,12

Tz 3use+ud | 25
4215+ 0.0
-36.18 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 5,

3000

2000

1000

TVC(cbch) (7,4,1)

(29e+U4 [ 25
4182+ 0.0
-35.24 + 0.00

Ao,

P PO

p1

TP delay [ns]

TVC(c,b ch) (7 4,5

- nui blbe+ud / 25
4212+ 0.0
-35.39 % 0.00

TP delay [ns]

TVC(c,b ch) (7, 4

- .
- po
pl

194e+U4 | 25
4231% 0.0
-35.13 + 0.00

TP delay [ns]

TVC(C, bch) (7.4,13

~ 1 nuiz.usoe+ud 25
4223+ 0.0
-35.49+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

4000
3000
2000

1000

4000

3000
2000

1000

1000

TVC(cbch) (7.4,2)

[oeee, po

pl

K™ 1 nuiLgsie+u4 /25
4190+ 0.0
-35.98+ 0.00

TP delay [ns]

TVC(cbch) (7.4,6

pO
p1

-1 nuiL bobe+ud / 25
4223+ 0.0
-36.78 + 0.00

TP delay [ns]

TVC(ebeh)=(7, 4,10

T g.o0e+U4 /25
po 4247+ 0.0
p1 -34.84+ 0.

-34.84 + 0.00

TP delay [ns]

TVC(cbch) (7.4,14

~ i yzve+u4 [ 25
4211+ 0.0
pl -35.86 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.4,3)

(19e+U4 /25
4195+ 0.0
-35.68+ 0.00

A,

e, po
pL

TP delay [ns]

TVC(c,b ch) (7 4,7

pO
pl

-1 nuz.01Be+u4 / 25
4231+ 0.0
-36.97 + 0.00

50 100

TP delay [ns]

TVC(c,b ch) (7, 4

1)
~ 1 nuiz.obze+u4 25
4249+ 0.0
-35.18 + 0.00

TP delay [ns]

TVC(C, bch) (7,4,15

A rnan 2,

31e+ud /25
4233+ 0.0
-37.12+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,5,0

AT 1nuiazze+04 /25
- po 4185+ 0.0
pl -35.05+ 0.00

TP delay [ns]

TVC(cbch) (7,54

- i Z52e+04 | 25
e, pO 4187+ 0.0
p1 -34.58 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (7 5,8

T 1yae+ud /25
= pO 4204+ 0.0
pl -36.52+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (7,5,12

T L gsse+u4 / 25
= po 4237+ 0.0
p1 -36.6+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,51

A” 1 nuiLbbbe+ud /25
- po 4192+ 0.0
pl -35.32+ 0.00

TP delay [ns]

TVC(c,b ch) (7 55

=1 nui 203e+04 / 25
) DO 4208+ 0.0
pl -35.61+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (7 59

<1 nu gbae+u4 [ 25
= po 4217+ 0.0
pl -36.89 + 0.00

TP delay [ns]

TVC(C, bch) (7.5,13

T nui gsze+ud [ 25
= pO 4237+ 0.0
pl -36.76 + 0.00

TP delay [ns]

4000

2000

1000

4000
3000

2000

1000

4000

2000

4000
3000
2000

1000

TVC(cbch) (7,5,2)

AT 1nui ryze+04 /25
P, po 4211+ 0.0
o pl -35.92+ 0.00

3000

TP delay [ns]

TVC(cbch) (7,56

- C = 28.53 [ps/ch

- 1L z8ge+u4 [ 25
po 4204+ 0.0
pl -35.05+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (7, 5 10

1000

0

T nuig.z3ge+u4 | 25
. po 4236+ 0.0
- pl -36.58 + 0.00

3000

TP delay [ns]

TVC(cbch) (7,5,14

T r1pe+u4 / 25
4241+ 0.0
-37.21+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,5,3

AT nuiL, 7 34e+U4 [ 25
- po 4217+ 0.0
pl -35.69 + 0.00

TP delay [ns]

TVC(c,b ch) (7 57

- nui 3y/e+u4 [ 25
- pO 4215+ 0.0
pL -35.36+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 5

EEALEVX ua4e+u4/25
4240+ 0.0
-36.3 + 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (7.5,15

T nai rzoe+ud [ 25
= po 4225+ 0.0
p1 -35.96 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,6,0

X~ 1w sy4e+U4 [ 25
... PO 4225+ 0.0
p1 -36.78 + 0.00

TP delay [ns]

TVC(cbch) (7.6,4

- iU gb1e+u4 [ 25
Faase po 4205+ 0.0
pl -35.45+ 0.00

50 10'0
TP delay [ns]

TVC(cbch) (7 6,8

-1 3use+ua 1 25
- pD 4187+ 0.0
p1 -34.07 + 0.00

I C =29.35 [ps/ch]

1
50 00

TP delay [ns]

TVC(Cbch) (7, 6 12

- 1 nuy z9ye+u4 25
= po 4200+ 0.0
p1 -32.52:+ 0.00

[ C =30.75[ps/ch] ™ ]

P R |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,6,1

A~ 1w bae+ud | 25
F.... po 4228+ 0.0
pL -36.47 + 0.00

TP delay [ns]

TVC(c,b ch) (7 6,5

~ 1 nuiLyase+u4 | 25
Fucse po 4223+ 0.0
pl -35.87 + 0.00

TP delay [ns]

TVC(c,b ch) (7 6,9

-1 nuiL yyse+us / 25
4222+ 0.0
-35.2+ 0.0

1
50 00

TP delay [ns]

TVC(c,b Ch) (7, 6 13

T nai szve+ud [ 25
= pO 4234+ 0.0
pl -35.44+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000
3000

2000

TVC(cbch) (7,6,2)

AL B13e+04 /25
P po 4222+ 0.0
- pl -35.98+ 0.00

3000

TP delay [ns]

TVC(cbch) (76,6

-1 nuz,08ye+u4 / 25
pe. pO 4237+ 0.0
[ Pl -36.29+ 0.00

TP delay [ns]

TVC(eb,oh)=(7, 6, 10

- 1 s 530e+04 | 25
- pO 4247+ 0,0
[ p1 -35.913 0.00

TP delay [ns]

TVC(cbch) (7.6,14

1000

1 nuiL ysae+u4 [ 25
pD 4247+ 0.0
-36.64 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,6,3

A~ 1 nuiLYose+ud | 25
= po 4238+ 0.0
pL -36.57+ 0.00

TP delay [ns]

TVC(c,b ch) (7 6,7

-1 nu 340e+04 / 25
- pO 4250+ 0.0
p1 -36.69+ 0.00

50 160
TP delay [ns]

TVC(c,b ch) (7, 6

AL s/ze+u4/25
- pO 4234+ 0.0
pl -35.08 + 0.00

TP delay [ns]

TVC(c,b ch) (7, 6 15

T inuiz1/ae+u4 /25
= pO 4239+ 0.0
p1 -35.69 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,7,0

A7 1 nui zyoe+ud [ 25
o, po 4204+ 0.0
p1 -34.84+ 0.00

TP delay [ns]

TVC(cbch) (77,4

T Lz se+u4 [ 25
Foe pO 4202+ 0.0
p1 -34.92:+ 0.00

50 10‘0
TP delay [ns]

TVC(eb,oh)=(7, 7,8

1 nuz5use+u4 / 25
= po 4215+ 0.0
pl -35.35+ 0.00

TP delay [ns]

TVC(cbch) (7,7,12

T i, ro4e+04 / 25
= po 4221+ 0.0
pl -37.52+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,71

AT 1 nuLs1oe+ud [ 25
e po 4217+ 0.0
pl -35.49 + 0.00

TP delay [ns]

TVC(c,b ch) (7 7,5

= rnuiL33/e+04 / 25
F po 4213+ 0.0
pl -35.64 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (7, 7

~ 1 nu.yyse+ud / 25
= pO 4231+ 0.0
pl -36.07 + 0.00

TP delay [ns]

TVC(C, bch) (7.7,13

T inuipz1e+ud / 25
= pO 4220+ 0.0
pl -37.77+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (7,7,2)

AT inuisr1e+04 /25
P, po 4216+ 0.0
- pl -35.13+ 0.00

- C = 28.46 [ps/ch

1
50 100

TP delay [ns]

TVC(cbch) (7.7,6

1 nuiL 484e+04 | 25
pO 4231+ 0.0
pl -36.31+ 0.00

TP delay [ns]

TVC(ebeh)=(7, 7, 10

0

Tz zz3e+04 | 25
=, po 4238+ 0.0
L pl -36.41+ 0.00

TP delay [ns]

TVC(cbch) (7,7,14

TrnuiLbr1e+04 /25
- pD 4218+ 0.0
L p1 -36.82+ 0.00

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.7,3)

- PO

pl

AT rnuaiLsize+ud [ 25
4221+ 0.0
-35.4 + 0.0

TP delay [ns]

TVC(c,b ch) (7 7,7

feme pO
pl

-1 nui 49pe+u4 / 25
4233+ 0.0
-35.92+ 0.00

TP delay [ns]

TVC(c,b ch) (7,7,

X~ g,

= po
pl

1)
rbbe+u4 | 25
4249+ 0.0
-36.01+ 0.00

TP delay [ns]

TVC(C, bch) (7,7,15

A rnan g

boe+ud / 25
4220+ 0.0
-37.25+ 0.00

TP delay [ns]



TVC(cbch)(780) TVC(cbch)(781) TVC(cbch)(782) TVC(cbch)(783)
AT 1L b31e+04 /25 A~ 1w quye+ud | 25 S 1 oye+ud [ 25 “rnan g aye+ud [ 25

4000 =— PO 4161+ 0.0 4000 =— po 4176+ 0.0 4000 .=— po 4176 + 0.0 4000 =— po 4176+ 0.0
pl -36.08 + 0.00 pl -35.61+ 0.00 : pl -35.45 i_0.00 pl -34.83+ 0.00

3000

B 3000 - 3000 - 3000 [ B

2000 2000 - 2000 1 2000 |-

1000 1000 = 1000

] woo- C = 28.71 [ps/ch

L
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (7,84 TVC(cbch) (7,85 TVC(cbch) (7.8,6 TVC(c, bch) (7,87

-1 nuiL bzobe+u4 / 25 - base+ud [ 25 =i, 74pe+04 | 25 -1 Byye+ud [ 25
4000 g pO 4178+ 0.0 4000 4186 0.0 4000 po 4191+ 0.0 4000, pO 4203 0.0
Pl -35.72%0.00 -36.1% 00 3 PL_ -36.15+ 0.00 Pl 36,62+ 0.00
3000 4 3000 - 3000 - 3000 ]
2000 4 2000 - 20001 - 2000 ]
4 - e = . 1000 4
1000 1000 w00 C = 27.66 [pS/Ch ]
[ T
- -
1 1 - L 1 1 -
50 00 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (7 8,8 TVC(cbch) (7 8,9 TVC(cbch) (7, 8 10 TVC(cbch) (7, 8

4000 Tz, fule+u4 | 25 1 nub.yzae+ud [ 25 4000 Tz, ryre+ud | 25 4000 T nug uuue+u4/25
[, PD 4195+ 0.0 4000 DO 4216+ 0.0 - DO 4201+ 0.0 - pO 4203+ 0.0
pl -35.21+ 0.00 pl -35.94 + 0.00 r pl -33.61+ 0.00 pl -34.98 + 0.00

- 3000

3000 ] 3000 |~ - 3000 1

2000 2000 2000 - 2000

1000 1000 1000

ol © = 29.75 [ps/ch]

L 1
0 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (7,812 TVC(C, bch) (7.8,13 TVC(cbch) (7.8 14 TVC(C, bch) (7.8,15

TnuiLsbe+ud /25 T yure+u4 /25 T sz4e+04 [ 25 T syre+u4 [ 25
4000 e PO 4206+ 0.0 4000 pO 4213+ 0.0 4000 PD 4225+ 0.0 4000 g, pO 4224+ 0.0
pl -37.35+ 0.00 pl -38.15+ 0.00 I pl -38.37 + 0.00 pl -37.77+ 0.00

3000

-1 3000 -1 3000 -1 3000 -1

2000 -1 2000 - 2000 - 2000

1000 -1 1000 -1 1000 -1 1000

N PR Y
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,9,0

A~ 1 nui oyze+u4 | 25
— po 4176+ 0.0
p1 -39.14 + 0.00

TP delay [ns]

TVC(cbch) (79,4

[ C =26.95[ps/c 7]

T b8 /e+u4 [ 25
— pO 4184+ 0.0
p1 -37.1% 0.0

50 10'0
TP delay [ns]

TVC(cbch) (7 9,8

-1 Lsze+04 [ 25
- pD 4189+ 0.0
p1 -34.73+ 0.00

TP delay [ns]

TVC(cbch) (7,9,12

Tz ie+u4 /25
= po 4201+ 0.0
pl -35.03+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,91

x- 1L dsverud | 25
F po 4176+ 0.0
pL -36.88+ 0.00

TP delay [ns]

TVC(c,b ch) (7 9,5

S nun 1 /e+04 /25
= po 4192+ 0.0
pl -36.53 + 0.00

TP delay [ns]

TVC(c,b ch) (7 9,9

~ 1 nuiL Usze+us / 25
= po 4226+ 0.0
pl -35.59 + 0.00

TP delay [ns]

TVC(c,b Ch) (7, 9 13

T nuizylve+ud [ 25
- pO 4200+ 0.0
p1 -36.27 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (7.9,2)

- C = 26.67 [pslc .

T Lsye+ud /25
F... pO 4192+ 0.0
L pl -37.5+ 0.0

50 100

TP delay [ns]

TVC(cbch) (79,6

T b ye+u4 [ 25
pO 4195+ 0.0
p1 -36.75+ 0.00

TP delay [ns]

TVC(eb,oh)=(7, 9, 10

-1 nug,uzge+ud [ 25
= po 4220+ 0.0
o pl -35.51+ 0.00

TP delay [ns]

TVC(c,b Ch) (7, 9 14

- 1.9zevud [ 25
- pD 4200+ 0.0
L pl -35.75+ 0.00

TP delay [ns]

TVC(cbch) (7.9,3)

4000 &

3000

2000 -

w0 C = 26.74 [pS/C ]

A~ 1 nuiL 3sse+ud [ 25
po 4185+ 0.0
pL -37.4+ 0.0

TVC(c,b ch) (7 9,7

1
100

TP delay [ns]

-1 nui Byle+u4d / 25
pO 4200+ 0.0
p1 -36.96+ 0.00

4000 G
3000 [ ]
2000 [ ]
1000F C 7]
] " el
TP delay [ns]
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